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XPIZTOY A. MITAPMITIAXTA®H

Kodnyntot tov Madnuotndy tod © Dupvaoiov *Adnviv

NN D2 E LY

TON AZKHZERN KAI NPOBAHGATEN TON ﬂEPIEﬁU“EHEH Ei2 THE
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Ta yvijow dvrivvaa gégovy v oQouyide. Tob Pu-
Phoamreiov tic « Eottac».
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AVEELE TON ASKHEEON KAI MPOBAHMATON
TON NEPIEXOMENRH EIS THA STOI. APIBRATIKAN

I. XATZIAAKH

Zeh. 13.—1.—0) Xihlag povddag, &natdv dexddac, déna Sxarov-
Thd0g.
B) Aéxa yhiddac povidag, hog dexddag, Exatov fxa-
TOVTAdag.
v) ‘Exavov ypduddag povddas, Séxa ypiddac dexnddag, 71-
Mug Exatoviddag,
2.—a) ‘Exatov SexdSoayua, déna EXQTOVTADQ oy et
B) Aéxa phiddag Sexddoagua, yila EXUTOVIUS QU L.
y) ‘Exarov pduddog Sexddoayuc, Séxna k. Exatovrddpoy .
3. — Exatdv,
4.—a) 76, B) 454, y) 608, §) 2039, £) 30017, ot) 300003,
£) 7000103
b, —Ilevuixovra &yvé, durandole meviixovea, yika EEanom
olo severovta, Oddexa shuddes Exatov Ertd, towdrovra mévie
whiddeg Evlena, Ovdorrovia gk, fatd, Evifrovia Yk, Onroand-
o, oxtoxdoian k. Exardv Entd, gl fva, Exatdy k. Eva, fva
énavopudoiov dxa k. fxardy Eva, Toflc yth. mévre, ToLdROVTQ
wh. mévie, towaxdolar k. wévte, Tolamdoial 7. mEvtixovia,
Towrbotan k. weviaxdota, ToraxrGota Exatonpt. meviaxdoial LA,
townbole mEVte Exatop., 85 éxaton. £ k. £, FE fxavop. -
xovid k. €Evxovia.
6.—a) 127, B) 1207, y) 12007, &) 30520, € 4000040.
1.—1420, 1421, 1422, 1423, 14924, 1425, 1426, 1427,
14928, 1429, g

16nke ané To lvoTitow




SEE R

8,—0 1252 #yer &v Bhop 125 denddug 12 Exarovr. 1 yhidd.,
6 37206 Eyel Bv 6l 3720 denddog 372 &xax. 3T yih., 6 705040
Byer &v Bl 70504 dexddoc T0B0 Eror. TOH ywih. xoi T éxar. k.,
6 3604800 ¥ey v fhop 360480 dexddag 36048 Exar. 3604 yik.
ol 36 éxar. yul. '

Sk, 20—15.—1542, 13122, 190023, 717605, 2838379.
16.—Ilpooidétonev €lg tov 1838 tov TH xol evpionopev Ory
xatd TO Froz 1913 firo TH Erdv.

17.—ITooaitérouey tag 967 doy. elg 1dg HOTH. "Am. G042,

18.—ITpoosdétouey elg tdg 2115 dpay. tag 892, "Am. 3007.

19.—Ei¢ td 1270 #n . X. mooodéropey ta 1928 &rq p. X.
FAT. 3198

20.—IToosHérouey tovs tEElc dGorduove, 1050, 822, 2500.
*An. 4372.

21.—Ilpocdétopmey Tovg Toels Gorbupovs, 87640, 27760, 8750,
*Ar. 124085.

22. —ITpoodéropney tovg dedopévove doiduovs &v @ meofii-
pott. "Anm. 8328.

93.—ITpootéropey ywolotd tovg dpudpovs 370, 725, 1095,
1810 #al ywototd tovg 3320, 7975, 8760, 12670. *Axn. "Exao-
Anoey dndadac 4000 xoi eloéroate 32720 Soay.

924, —Ad v Pav doowv Enifowoe 12754375 fjror 16560 do.
xal S Ty ynv ddowv Endjomee 16504680 ijror 2330 dowy.
“Qot: S8 Toc toeic ddoeig Emdjpmos 1275-4-16504-2330 frou
5255 doay.

25.—O00 mévie aotduol elvar ol 53482, 57489, 61496,
65508, 69510 xai 1o ddpotoua adrdv eivar 307480.

26,—O01 dxze Goudpol elvor ot 3969, 6675, 9381, 12087,
14793, 17499, 202056, 22911 xoi 0 ddgowopa altdv elvas
107520.

Zeh. 26. 32. — °An. 3198, 28727, 4068, 15956, 478386,
3582875, 876590, 1230748, 2104629, 4281393.
33. — 7574 3708= 4465 987694 82442=181211.
230624-17479=40541  260368-4-194681=455041.
873084 8786=96094  6983409-4-201991=900400.
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34.—48712 — (3038 1 26406 - 9268)==48T712—38712=
=10000.

35, —48201-(8300—7019)==48201-4-1281=40482

36.—1284—(918—662)=1284 —206=1028.

37.—(2194-528 +311)— (737 — 329) =1058 —408=650.

3R.—(2112—446) 4+-{4500—3321)=1166 4-1179=2545.

39, —"Exéodicev 8517 80.—7720 do. Hjror 797 douy.

40.—Exhjomosv 63750 dp. — 14875 do. Hiror 4887H do.

41, —"Eysvwiidn el 10 &rog (1879—85)=1704.

42, —To 1s60uoey dvet 9587 douy. al 6moluw sholoxovral v
and ris 12075 doay. dpmpéowmpey tdg 2488,

48 —Edpionouey 10 Inrovpevov &xteliolvees thy Ggaipecty
1928—1453. *Am. 475,

44 —Ax. 1413 pn.—1110 p. =303 u.

45. —Ilpoodétouey molitov tag 2148 Ox. nul 3679 du. nal
10 dfooionn abdv aeuiootuey Gxo tag 964D dx. "Qote Ejouey
2148 du.--3679 Ox.==bR2T wol 9645 dx.-—bHB2T 0x.==3818 ox.

46.—'0 dlog Exfpdroey 1932 80.—807 00.==112H doay.,
2w mwhéov BE ol mpwrtov 1125 8p.—807 80.=318 do.

47.— 0 peyuliregos Goidpog elvar 1 dwwpogn 1890 — 634
—1206" 7 68 Swgood to@v v doudv slven 1) 1206—684
=522

48, —Awo thg Ymc m. w. uéyou thg usonupolas nesorofota
3 Goat. “Qare t rovuevov elvar to ddootopa 3 Ho.+11 dp.
=4 D,

49 —Axo thg 20z w.u. Tiig Mids fuépog wéyor thig 2og p.u.
tijc Exopévig elval 24 Gout xal dhkat T Goar wégot s s p.u.
Wrow 8y dhw 31 Mo,

50.—"Ex tdv 1245 Soay. 6 xogxdc Enliowoe tag 1245—17
==1228 dpuy. "Enedy Sume Buewve xal yosdotng 76 doay. €re-
zat, On Nydoaot modyuote astag 1228 dp.-4-76 do.=1304 douy.

Hl.—Aw va yivy i fhia tod viod and 14 fr. 37 &r. mpé-
zee ve mepdoovy 23 EFry. “Qote ) filwde 1ol mavoog Ha elva
téte 48-4-23=171 Ewm.

52.—H fkuia tol mavpds elvar oniuegov 36--17=53 £m.
AN Sud v yivy 6 vidz 40 Erivv moénel va wogéhdouy 40—17

Ynopiomo|Bnke ammoé 1o ivotirouto EkmaiSeutikrg MoAmkrg



R )

=923 #m. "Ago | Hhwla 0¥ mateog Da elvar téte 53—]—‘23
=76 #wm.

53— Agod % Duydmo evar 28 fdv, 6 mutno Elvo
98-1--95—=h1 Erdv ol moogavig 6 vioe 24 Erdv.

H4.—Eig tv devrépav td&y gourdor 274-14=41 padnral
“Qgte gl Ty modtyv qoutmoty 120—(27-4-41)=120—68=52
podnrol.

55.—Af damdvar 1ol 20v unvos elvar HT64—325=0H439
do. af 08 dumdvor tol lou zal 200 unvog elvanr HT7644-H439—=
11203 douy. “Qore Ov apaioéomuey tac 11203 dooy. Gmd tog
15291 docy. elplorousy tag dumdvag 10l toltov unvog ai 6moto
etvan 4085 doay.

56. —Ilooodétousy ymoiote e zéedn 102000 Sp., 145350
d0. 69200 Spoy. o evoiovopey 317650 Souy. xai yowoerord Tdig
damdvag 72000, 80500 §p. 73000, ot bmolar v Ghg dvégyovra
glc 225500 Soay. AN Exadl) ta xéodn eivan meplocdreQu TV
domavay, nubidnoay T xepdloie 1ol Eumdoov xara 317550—
2925500=02050 Souyuds. "Aga Eyawvav T xeqgdhoe 3980004
92050—490050 So.

57.— Aot méguoty al il T@v tesadomy 6ol dreréhovy
‘tov doududy 127, Bpéroc fjror umetd Ev Erog, ol Whudar adrdv
Grotehotv tov dowduov 127-+-4=131. "Eaeadn 8 of fhudat i
unTede %ol Ty dvo téxvov droteholv Tov GoLinovi12, dv dpol-
pfowpey «dtov (dmh. tdv 72) Gxo tov 131 elpionopev thy i
Mav 1ot mazeds fror 131 —T72=59,

58.—H yuv)) elven tdhoa 62 Erdv zal yijoa mpd 3 Erdv.
"Ogre Gy GEdavey 6 olluybe e, fito abim b9 Frdv (62— 3).
*Brady 8¢ otov dvupgeddn fro 20 ét@v, Emnerar Ot dmo 1ob
yauov g uézel w0l davdrov 1ot cvliyov g, magiildov 39
Fony (59—20). “Qote 6 ovlvyog 6 Gmolog Evupgeddy elg Hhmday
30 fxivy, anédavey glg Ty Nhuday tdv 69 &dv (304-39).

Sel. 38—062.— Am. 123168, 372957, 142480, 305640, 167485,
1333696, 19145700, 11026346, 8321105, 190524005.

Yneromoijfnke amé to lvatiroUto ExmaibeuTikrig MoAmkiig



Yeh. 42—63.—

*An.3XbHX T=16X 7= 105 4% 25%80=100X30= 3000
BX8X 2=48% 2= 96 4% 29X 25=100X29= 2900
5X4X12=20X12= 240 BOXT8X 2=100XT8= 7800
84X 30=32x30= 960 50X49X 4=200x49= 9800

53X 839 10=40X90=36"0 4% 21 X 125=500X 21=10500"
(34.—5X7X9x13::35)(‘.1)(13$315><13:4095

13)(1?)(55)(46:221}(ﬁé)(tl(i::E?l:’)ﬁ){~16:659130

38 X4 X 77 X8=152X616=93632

8 T X4 X 30X 5 X 2=224 X 300=67200

50X ZH X 19X 2X 10=50 50 190=2500 X 190=475000

101><21><37><4><1:‘)_——1()1><TTT><b'0=6060><777:4708620-
L 0 A1="""" 5]

Tooamlil="""T50--" Tbh— 895
3212 11= 32120-}-3212= 35332
2140X 12= 21400-4+4280= 25680
4245 X 12= 42450+4-8490= H0940
98 % 101= 2800-- 28= 2828
93% 101= 93004+ 93= 9393
150 101= 150004 150=315150
1170% 102=117000--2540-=119340
2459 X 102=2489004-4973:=253878
66.—31 9= 310—31= 279
43 X 99=4300—435=42517
5125 X 9=H1250—12H==46125
7018 X 9=70180—T018=63162
719X 99=T71900— 719=T1181
872X 99=—=87200— 872=8(328
460X 98=46000— 920=45080
9293 X 099= 223000— 223= 222777
1087 X 999=1037000—1037==1035963
6208 X 999=6208000--6208-=6201792
520X 998= 520000—1040== 518960
2490 X 998 = 2490000—4980=2485020

Wnpionoirifnke and To lvotirouto ExmaibeuTiki MoAmkg



Qs

7.—B7+ 24x3= 5T} 2= 129
98+ 19X4= 084 T6= 174

9% 934 6 = 2074 16— 283
11921147 —1012 4-147=1159
15X 74--2050 =1110-}-205=1315
1BXT+HWBX 1=  914+176= 266=(13-1-25)XT=38X17
BIX44+95Xd= 324-+380= T04=(81+95)X4=176X4

9X 84-15X 8424 X 8=T72 -1204-192= 384=(9-+15-1-24) X 8=48X8

151 20% 114353 11— 132201385 — 648=—43-1-(204-35)X 11—
=434-556X 11

101+17X15+51X15:1U1+255+765f1121:1(1]+(17+51)X15=
—1014-68X 15

68.— 10°=100, 10*.=1000, 10*=10000, 10°==100000,
10°=1000000, 10"=10000000, 10%=100000000.

69.—13*=13:13=169, 14'=196, 15°=225, 1(*=256,
172=289, 182=324, 19°=361, 20°=400.

TS =i el - St—05eDRaR_ Rid 32— G4
H8—=125, 68=216, T==843, 8*=H12, 9*=729, 10°=1000.

T, 2732450325 38— 52 —128 X “43—=31104.

Seh. 43--72.—"Agod 1| 1 £3downdg &er T fuéoas moAhamhoscid-
‘Lopey toc T -fu. &xl 18. "Am. 7 fu.x 18=126 fu.

78.—H 1 dpoyun Exer 100 hemtd. “Qote al 72 doayuai
Fovor 100 A} 72=7200 kentd. 'Ex tovtov [Aéxw, Ot dur v
toéyo toc dpayudg elg Aemtd, yodgo €l to téhog dvo undevind.

4. —Kduvovar 375 do. X 82=30750 douy.

75.— Aot 10 1 Brog #gew 12 piivas, ta 18 Em Exovar 12
LR —21 61

76.—Eig 20 uéon (DX4).

i7.—"Agot 6 1 dviowmog Erafev 850 doay., o 15 dviowr.
Ehafov 850 do.X15=12750 do. ;

8. — B0 toyacd] 8 do. X 175=1400 doauL.

79.—XwpoTv 1125 0x. X 16=18000 ox..

80.— Aqgob eic 17 0 1ios dazoéyer 340 u., eig 127, da-
rofrer 840 w. 12 firor 4080 uéron Ni10 woxodv to GUVVEQOV.

81.—Efpiorousv modrov mécov Gillovy ai 725 On. xoi Gmd
iy GElav adtdv, agaiooluey tas ahnowdeicag 2585 do. “Qore

P

WnopiomoBrke amod 1o lvotirouto EknmaiSeuTikrg MoAmkrg



e

#ouev b 8o.X 725 =3625 doay. dtlav dnddov xot 3625 do.—
2585 80.—=1040 Soay. vrdhoiov TOL YOEWOTEL.

82.—Eic tov xdfie oduwov =eodiler 320 $0.—240 8p.=80
Soay. “Qate £lg todz T0 odxxovg xeodilear 80 do. X 10=H600 do.

23.— Al 6202 ox. dtllovv 25 d0. X 6252=156300 do. Ei-
aénoote 8§ dmd uév tas H480 3%, 30 80. X H480=164400 dou.
wal Grd tae vrohotmous 772 o (6252—5480), 28 do. X172=
21616 Spay. Hrow siofmoatey év Ok Gmo v mainay, 164400
Spay. 21616 Souy.=186016 doayual: doa Exéodioey 186016
80.—156300 80.==29716 douy.

To mo6Pinue Tovto Numogel vi Avd wol (g €Eig: Thv mod-

mv ooty Exdince H480 dw. nol Ewfodiaev  Gmd ndde Oxdv D
Soay. Hror Exépdioev Gd avtde (DX H480) 27400 doax. Thv
sevtéoay qooav Emdinoey T72 o wol Exéodioey amd wdde plav
3 Souy. “Qote and adris Enfodioe (3 772) 2316 do. "Hrot &v
Hho Exfodios do. 274004-2316=29716.

Q4 —And td 12, td 6moile amédavov, ELocev 220 dp.x12
—9640 doux.- Axd i 116 (128—192), td Omole ExdAnoev,
Futodioey ele 1O xadév BO Soay.’ Gote D to 116 Exépdiae HO
S0. X 116=5800 dp. Erouévwg 10 xéodoz tov elvar HR00 doay.
—92640 8p.=3160 doax.

85, —Elg todg yovelg tou %ol THY Gdelqiy Tov oTERREL RoTdL
wiva 200 80.-4-150 80.=350 do. dorte word uijve toll pévouy
480 Sopay.—300 dpay.=130 douy. wot Ghov to Frog ol pévouv
130 8p.x12=1560 &g. :

36.—Merd 30 Fry af Hhudow v wévie avlodmmy GmeTéhovy
tov Gotdov 98--30 X H=98-}-150=248. “Qote v APAECH-
wey tov aguinov 165, tov Gmolov gnetéhovy ol Hhwior Ty k-

Lov teacdooy, G410 toy 248 ebolokouev Ty Ahlay o elyev O
aatho, Grav anédavev.

87.—“Olog 6 oivog Zovolyoe 13 d0.X 238411 do. X386=
3094 6_@.—&-—4246 80.=7340 do.

88.——Aqob &xdotn oehic Byet 35 ot{govg, 10 BiBrlov Eyel Ev
A otixovs 35X 120 (4200) xai 2retdn Exaocvog oriyog el 40
yodpuara, of 35X120 oriyor Eyover yodunata 40X 35x120=
168000,

WnepionoBnke ané 1o lvetirouto ExkmaibeuTikrig MoMTikrg



e A (b

89.—"Eyovor dpduia 400X 44 X 8=140800.

90.—O1 8 crarfioeg #xovow ox. 44 X8 nal pe BO Spay. iy
oxdav GtiCouvv H0 Bp. 44X 3=1T7600 8p. %ol pe 10 do. v dxiv
aEifovv 10 8o.x 44 X 8=3520 do.

91.—°0 dvdommog attog Enoev fiudoug 365X 80420 (dudr
20 dloenta Frn vmdoyovv gig 80 Fn) § 29220 fju. Gote #inoev
doag 24 X 20220 7 701280.

92.—Eig 30 fju. wduver takeldia 8 X 30(=240)" dote droun
ueropépel gig tag Nuéous avtdas 16X 8 X 30=3840.

93.—H 1 deoa #xew 60, dore af 5 dpar Fxovot 60°X5H
(=300) 10 1’ Ee 60" O(==300") #EroveL 60" X
60X 5(=18000") émopévc dgol f datuducta dwareéys 10
. gig 17, &l 1a 60" XX 60X 5(=18000") O dargéter 10 u. X 60
X 60xX5=180000 péroa.

M. —"Edwxe d v édyopdv 128 8p. X 20=2560 dpuyudsz
Eloémgute 8¢ amd tiy mddnow tdv 12X 20(= 240) uavdviiey
dpoymog 12x12x20=2880. “Qore 2xépdice 2880 8o.—2560
=320 dpay.

95. —"Eyet v 8o doaxpag 1000 18-4-5000x 94500 x 24
100X 115425 X 208+50< 121 = 18000445000 -+ 12000
115004-5200-4-6050=17750.

Zek. 66. 106.—"Ax. 1037, 907, 75, 84 xai vr. 20, ani.
200, 8, 9, 16 xal dxd). 14419, 543 xai Txéh. 12111, 24 xai
6k, 150000.

Jed. 67—106.—An. Elvan 10 mmAixov tiiz Swpéocws 1o
1411 & tod 83 Hrow 6 17.

107.—"Ax. ‘O dhiog elvar o mmh. iz Stanpéoewsz tod 48118
S1a tov 491 Hror 6 98.

108.—"Ax. Eig plav Gouv Sifreete 162 k. : 18=9 yii.

109.—'An. ‘O xadelg foyding BhaPe 22715 doay. : HI=385
dpayude.

110.—Awt va elomuey 1o yrodpevov Sionpolpey o 78955
Aexr. D tod 100 xoi evploxouev, Gt xduvouvv v 78955 lemt.
789 doay. »ai meprooevovy HD Aenr. “Qore did v tofpo lemrd
gle dpayudg (Brav elvar megwsodrenn amno 100) zwollo T dio
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tedevraia ymele 6 Godpos tov Gmolov 10 dhha cynuetilovow”
glven Spoypal.

111.—Awipotuey tov 97870 did tol 400 didm o Oxd Eyst
400 Boap. ol eholoxouey, Gt ta dodévra dodutn xipvovy 244
ox. xai mwepweeevovy xal 270 doup.

112, —Awarpotuey tov 18000 doay. dua 12 wel Fopey 18000
dp. : 12=1500 doay.

118.—“Ooac qoods ympel 6 879 &lc 1ov 24612, «ic 1660c
Goag & yenion 1) SeLapevi) firot el 24612 1 8TH=28 doas.

114.—Td modrov Swavier (90 wik. @ 8) 11 piha ®al Ohiyov Tt
elc xdde Gpav, &v@ 1o devtegoy dev Sravvel (200 p. : 28) otite §
wihia. “Qore tayiregov glvan 1O modTOV.

115.—Ex tijz noMoeos tot ghalov 9 2dBy 37 dp. X167
—6179 dpay. (ddre 1) niw dxa aEiler 37 doay.) Emeldn 88 pe
tic 6179 Soay. éhew v Gyopdoyn citov mpoe D dpuy. 1) Oxd,
Soug @opte xwoel 6 D gl tov 1679, thoag Onddag O dyoedoy
firor 123D ox. xal da 1ol pelvovv ol 4 doay.

116.—To &hov xépdoc 1ol Eumbpov elvan 3570 do.— 2075
d0.=h95 douy. ‘Ered) 8t 10 xéodog el Eva mijyuv glvan 7 do.
‘Sooe @opig 6 T YwEEL Elg TOV .)0.) thoove el Nydouaey” HTol
595 : T=8H mijy.

117.—0 tmdidnhos olrovousl roxd uijva 4680—3540 do-
—1140° Gore £l niay Huéguv oinovonst 1140 do. : 30=38 do.

117.—Thv ouypiy xad iy avayoesl 6 Trrevg dméye amo
105 7eto® 120 k. (Sibr & weLog dravpéyer eiz 20 doug, 6 WA
X 20=120 uk.)" dgod d¢ uw.ymgnon, wdde Gpav amodlen Tov
aelov rard 4 ph. dote doag opus ymoel 6 4 elg tov 120, téom
Hoa yoerdCovran: fjrow 120 : 4= 30 @pcu.

118.—O1 8 odwror Tiyoodednoay dvtl 1440 douy.— 120 do.
—1820 doay. “Qote 6 iz odwxoz Wyeopdody dvii 1320 dp.: 8
=165 Opay.

119.—A1 15 dxdd. povrvgov dEilovy 85 doay. X16=1275
doay. Gote av amo o 4223 doay. dpaoéoopey tag 1275 doay.
fitow Ty actav ot Bovrvpov Ha pdc petvy 1 GEla rob Glov
Bafov: k. ) dEla 67 dx. Fhatov elvan 4223 80.—1275 do.=
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2948 Soay. xal i dtia thg 1 dx. #alov elvan 2048 0p. : B7—44
Soaypal.

120.—Kata tag 3 Towtus Houc auatooroin Sifrpete
29 0. X3=87 y." Hore gls Tds Uroloimovs 6 Mpas dtéroske
309 wih.—87 y).—=292 Ak doo elg xdde DAV Gmd adrds
groexe 222 vk : 6. =87 LA,

121. —Ex tév 14 aviodnov fafev 6 xadeic 2100 dp. : 14
=150 dpuy. "Eneid) 8¢ &iot Ehafov 10 add mogov do v
Eneran St ofadihdor 4 (18 —14=4) #Bov 150 doay. X 4==600
doay. dote T poipacdivia ronuare foay 2100 doay.~-600
d0ax.==200 Soay. wal ¢ wadels Blafev 150 Spay.

122.—Exeidfy $8het v xeodion 12000 Sparude Grod e 240
modBara wobmel v xegdioy Gnd w0 xadiv 12000 do. : 240=50

Soay. ¥ror moémeL vi AL 10 xzaddv apde 280 dpuy. =450 dpay.
=330 Soay- _

123.—"And taz 26000 doayudg Fdpinoe ui moofara 26600
doay. —T7300 Soay.=18700 ogoy. "Enzdn 88 o xadiv TooPutov
HELe 275 Soayudg Eretar St Soag ootz ywoel & 275 elg Tov
18700, 60 modfora Emxe: firot 18700 : 275—68 Todfata.

124 —"Aqo¥ 6 Grdhinioc oUtog oixovouel eig Fy Erog fjtot
et 365 fjuéoag 4380 doayuig sic piav Nuégay oirovoust 4380
dpay. : 365-—12 doaguds. "Aoa 6 piodoe g widz fuéoog elvar
68 douy. 412 Spoy.==80 8p. xal toll &vds umvoe elvar 80 dg. X
30==2400 douy,

125.—Ei; o nodPlaia tolito TO Hugoouindioy tod Eoydion
v Soodmidf iz 49 doagude. Adousy 8¢ abrd @ gEfic. Elg
wlav &B5oudde AauBdve arxd ta fiuegoniodd tov 49 8g. X 6=
204 doayudz, #odevel Ot 32 doay. X 7=224 Spay. Gote elg niay
EPdoudda olxovouel 294 Spuy. —224 00uy.==T70 Souy. »al Elg
uiay fudgav 10 oy, doa duét va olxovoutioy 1350 Souy. Tpé-
TEL VA megdoouy 18350 - 10=135 Nuéon,

126. - Eiz wic 365 finéoas tod Erovg Eddevse 59 do. X 365
=14235 Spuy. »al tof Excoiooevaay 2085 doayuai- houtov xad
JAov 10 Erog eloémoate 14235 douy. 42085 Soay.=16320 doay.
wal Exedh Sovdlerar pioy Npéoav Sta va AdBy 60 Soay., Sid va
Adfiy tag 16320 Spor., mobrer v eloydodn tdoug Nuépaug Soug

YnoiomoBnke amé 1o ivotirouto EknmaiSeuTikrg MoAmkrg
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@opag yweel 6 60 el tov 16320 ijror 272 fjpéoag, Enopévmsg
depyog Epewve 36D —272=93 fiufpus £ig 16 didotnua Evog Frove.

127.—Edplornonsy modrov mdous oxddag Nydpuce wé vog
18288 Soay. mpog 9 doay. v uiav oxav. Edploxopey 88 Gu

5

Hydouce 18288 : 4=2032 6x. Menijyyioe 8¢ tOv olvov tottov eig

1000 Broéhie, Souz @oods sioloxopev Ot ywoel 6 127 iz tov
32 frow sic (2082 : 127= EhLcL,

2032 1 ()O“ 127=) 16 pogél

Edoplonouev to Inroduevov ﬁ@\;{:@t’)_usvm ml Mg 5“?]:,: 1 aklu

doay. Boag 8¢ poode ywoel 6 1143 eic tov 18‘_)8b tdoa slvon o
Poofiie glc o Omola Hd perayyiodf 6 dyopaodeic olvoc ol
18288 : 1143=16 Paoélia.

128.—01 19 afy. tiig mpdn:z mowdros dEllovy 87 Spay.
XK 19=1653 dooy. ol d¢ 28 mijy. tig devrépog GEilouv T8 dpoy.
XK 28=2184 douy.” ol mijyeig dou TV Mo Todrwv moOTHTOV
atiCovv 1663 doay. 2184 dpay.==3837 douy. “Qore dv Gpaipé-
agwpev tag 3837 dpouy. axd tdg H349 dpay. svoioropey v aklay
v 24 miyeov tiis tolmg mowdtnrog Nror H349 Spay. —3837
dpay.==1512 dguy. "AgoT Loiwov of 24 mijyeis Tis toltne mold-
tnrog tpdveal 1612 dpay., 6 el wiiyvg twdran 1512 8p. : 24
=63 douy.

129.—Aw va @ddoy 6 dvdowmos oltog elc tov doudpov
1000000000 woémsr v muoérdovy 10000000007, "Exeidn 8¢ 607
xdpvovol 1°, 10 amhixov to® 1000000000 St vob 60 Y& pés
dooy tov Goudpov tiv modtwy Aemtdy ez Ov tofmEron 6 EVQE-
Uelg aowuog t@v deutéowy dextdv: da magéhdovy 8¢ 166666667
xot 407 Enedy 88 60° nduvory 1 Gonv diawgoivieg tov 16666666
S tob 60, ebolononev tov yodvov mol mopfoyetal eig Goug i
omotan Gvépyovian eic 277777 (xal 46°) 6 douduog 8¢ tdv dHodv
drpovpevog O 24 94 pdz 8oy tov yodvov eic fiuépog Hrot
11574 _f]l-t- (xal 1 doav) dore 96 magéhdouvy 115674 fju. 1 dp.
46" xal 40" 1 mepimov 31 F1y.

130.—"Av 6ot of mijyxeic foav Boubaxsgol da EhduPoave HO
80. ¢ 48=2400 dpuy. *AMa EraPe 3000 dpay. fitor 600 Spayuas
weoimhéoy: avzal Opwg woofpyovran aro to wdMwvov Ugacpa:
wal Eneldn) and wdde aijpuy padlivov depdoporog Aapfdver mepi-

KEAMOTo Iv




o s

whéov 100 dpay.—50 doay.==50 doay., dux va Adfy tdc 600 do.
neQuThéov, mpémer va awAiop téoovg miges poAkivov Spdopa-
105, 8oug opdg 1weel 6 600 tov 50 Hror 12 Gore of pév m-
JEls 1ol nadkivov Sgdopatos siva 12, 0l.8¢ 1ot Bapfaxepod
48—12—=36.
ek T4—131.—O1 298 xai 3262 sivar dtangerol wdvov Sk tod
2 & tdv dedopévorv, of 25700 xai 16000 elval Sratpetol 81
Ohov, 6 140 dud tiv 2, 5 xai 10, 6 10425 St 100 B nal 6 453
e Rovéva,
132.—Of 608, 1400, 10392 eivar Siaperol Hud 4
» 975, 1400, 18250 » » » 2D
133.—O01 891, 6273, 8604, 16326, 315783 sival dapetol
B 3 xad 9, 6 88 206007 elvar dtatpetog Su 3 udvov.
134.—Aud 12 xai 8¢ 6 elvar drargerol of 3072, 7500, 12096,
7008° 6 8¢ 6162 elvae Srngetds 8 6 pdvov.
Sel. 78—136.—'Axn. a) 2,8) 12, v) 84, d) 19, €) 256, osx) 3,
0) 43, n) 2453, 9') 940, 1) 101.
137.—Ax. a) 37, B) 36, v) 10, 8) 5, £) 300, ot) 100.
138.—'Ax. «) 42, £) 105, v) 78, 8) 60, &) 90, ot) 120, [) 504.

s ; el o .
Zeh.82—139.— Erdpousy W0 100 dhov olvou,

140. — 00 AdBouey o —(—i— Tz povadoc.
29 7/ 2 ¥ f 2 I
ML—"Ar 0 0 5 % 00 T00 Ty
142.—Ax. A vefic Suofoews tiic movadoc el téoa oo
uéon, dow deueviel 6 mTapovopastic fxdotouv #Adoparog Grd td
Smota Raubdvousy téou néon, Souo Sexvier & aotdunte adrod-

c " 2 - A el e oy
143.—An. Of 7 & t@v xalhieoynrav FhaPov té 1z U d-
AoV xTijaroc.

\ . * R Ptk X Ar \
144.—T0 1 hemtdv elvan w0 —— tiic douyuiic, T b elvar td

100
A A A R R0 R S
.100, T .O ELval Ta 100, U -_')0 ELYOL T 100 AUl TO 8{) EWVaL Ta
8 - 3l
106 s doaxuiis.
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123 “ 1 —~ ’ . e
145 —'H 1 dpa eivan t0 57 oD fuepovuxtiov xai al 7

* ¥ S D P
WEaL Elvat TU 5y OUTOU.

» S e e . e e \
146.—H 1 fijuéou elvar 10 = i £Bdopnddoz, wai ol 3, i
D
== av
7
¢ \ iz \ 1 ~ \ (3= \ +)
147.—0 1 piv evan 1o 45 Tov grovg, xat oL 9, W 3

2 -~
{101 0V.

> i « 1b = o gt
148.—AT 15 dxddeg elvar ta 5 Tob oratiigog, zal td 90

SR
Soduta elvar T& yae TG OXAS.

S e _ il s i
149.—T0 upepidlov éxdotov svan T = g doayuiic.
C

25 i
- AR ’ (e L1t ] -~ ’ N o
13“‘ fn !lEQlalOV EXOOTOV E?V(‘.L Ta _8 TOU TNYEWS 1] o 8

1ol myEwe.

1 3 8 21

151.—Ta GreBii mnhixa tdv dwooéoemv elvat T 15 3
d e ) (TR 5 2 ey

43, 5 A 8% 5 % o 5 B 55

152.—To —:)— onpoiver §j ot 1y 1 (ixs@uiu povag  dmogdn

’ A . - A B € * A
sic 9 {oa péon Gnd ta Smolm #hdfomev ta 7 1) Og maguoTov 10
nhixov tijc dwoupforme 1ol T 8" 9 dewviel O Evatov pegog
100 7.

o - i , ; it
Seh. 86—153. —Muobreon tiig dxegaiog povddog elval ta o

(1]
Y
o1

G R DI R R e
150% ggas, 0% Te0s avIny 2 g

1
32
31

nol  peyahi-

-1

o
g
5=

N o]

1500 alTiis T& —,
: . 45 . 81 . . 108
154.— O darfpaog 9 toémeran elg -—;, glg 5 N els 75

= e S - 3 2¢0 ¢ = 3 BED) Lt ayiie
155.—0 dnéomuog 18 rpéreran eis 5, 0 20 elg 37 nat 0

o

108 ety B2
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156.—5H nnx.:—%g w., 2 dp. 1(2(; wo., 6 & r=?-f—(()-);}l On.
157, —32 =21 60 = 5 L5 sli 28 682
=22 9980 2B, 130T _ 106 5010 =228 3'5%
13:4- 35 1” 15:3;}‘)’ 1041 }J?Z,% _Hgfz_sllf_?u_
158. —Oi 15-% any. dmotekolvral a0 129 dydow, af ‘.]—z—-
mput amo 39 tétapra xal ol 23[00 arno 9550 tevpurociostd.
169.—2=3, 2 =8 —3 Mg L
: 5 ¢ 08
=22 B_q93 B_;nl B_158
160.—%:70 e 3’%55:130 2’— 4"._1.340, 11.;’_(,5

5.-18° 17 95+ 31 89 45 561
Yer90—161l. ———, —, =, —, T, — =, —
e e e G o0 B LG
108 108 108 108 108

162.—755 130" 188 196" 260°

163. —AwthaaidCopey, towthactdloney x.t.h. 1OV @oudunuy |
gudotov vhdopatoe, 1) Otnpolusy S 2, 3, 4, vk, 10V 7opo- j
vouaotiv aitod, gav Sioupeltol. |

164—Awapotpney e 2, 3, 4, ».t.k tov dordunoiy emomﬂﬁ
wxhaopnarog 2av diowpeiton 1) molhamhamdlouey tov mapovouds |
atijv avrov émi 2, 3, 4, nt.h

Ton —u e R D16 T A0 b SR 2t

6 3 i) gt 24— 120!
3 144

4192
3 9 9 45 19 95
166.— 7=, 77— T~ ©
9 __ 135
LI 37
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163 gy i 200400 9 6.0 o8 361900 18T
TR T T T R R el O TR o el T B

R B e 85 T b BB 18 B aRh 10 )

s 12 2
J ERERER L G EEE A0 e o Ol B "7*:n?:1s =
70
5

169 RS Rl T 30589 il 955010 o B 835
S SR A S T e O S A ST
— 11 108:86 __ 3 2568 :24 107 10200 : 3400 3

FTOAER TSR sa = 11" 7680 26~ 820" 47600 : 3200 — 14
20020 : 2860 7
14300 : 98y0 5 °
BEL9h. 170, —o)%F _ & 1X3. 3 2X7_ 14 5X3
0l =55 i =120 P 3 :
13 3X2 6 Tx1 7
TPy ¥) Exm. 1@V meg. 8, i;—g‘):—;ﬁ Xl 3R S,
- Sa X 9l Bva 10 Rl t b 5
WY wap. 36, 1B%8 86 1652 =g £) wB=5 wow &

3 9 a £
Aopev T Bp & * T 1@V mog. 20, 8X4 12 9x1 ]

b T e
£ OT) B % . bV “nap. 70, 1514020, 5 Bich. — 20
5 85X2 70" 1a%E. 70"
T R 2XAXH 40 3X38Xb __ 40 4AX3X4 lb
BXEXD 60" 4X4X5 60 HX3X4A
B) Ex.m. wiy . 60, Dt aslo ‘ :{X-]-:) =24 -5—>5-1—{)—
50 1)(1-) 60 HX12 60 ' 610

4 Y) €. 1@y Aagov. slvar 10 yivbpevov adrdv HX3X T

;‘?X? =88  2XBXT 70 . 6x5X3 . .90

ORAXT 106! BXEXT 106" TTX6XE 106"

0) Eu.m. tdv mag, 94 OX2 10 IX3 _ 21 18X1
AT o BN 90 el T

.0

24°
€ £ x w10V map, 180, —X20 _ 10 4X12 48

U 85490 T 180" 1R — aane
18X9 113 : 4320 180" 156X12 180
X4 180
Avogic "Aoidu, xaj Peop. Xartiddaxn 9
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5 2 - 3IX 15 45 5 5
01‘) & 0 v ma. 60 = S i_i, thIU 2 00

415 GO 6X10 60 '
3)\()
1()>(b (‘.i)
e e S S SN el NGl
172.—u) £x.1. 1V o, ob, 6506 = 36 1axs = 55"
T4 1 287 1332 Gf 26
UAd . BB 1BX2 T 86
B): & % ;. vy mop. 120, —i‘-j e 1- gl Jan
g §X 15 120" 5324 1%
————
TX10__70 19X4 76
1210 120° 30x4 — 120
i G e @ i

v) & % m 1eov wap. 300, e = o mXie S5
216 __126 11X2_ 276 71X10 0
F0X6 ~ 830' 19X25> 800" H0x.0 3007
3) o, tév warg. tlvi T yubpevey adtdv 2X TXHX3,
IXTXEX3 105 BXIXDX3__ €0 2XXTXB _ 81  1XIXTXD
X TXHXS =910 TX2X5XB " 210" b WAXTXD 210 BX2X XD
70

=210
” P A ]") 19 E} r > 3 |
173.—Toémouev v »Afopart 7=, 5= € Oy@ vpa’ 1 ot 10
18 = 90 %ol 19 bV &ire Bativmo: T wowecdspa, O €L
e e TS ) MOE T i JFOAL, £Lo-
15 75 95— 15 Q B 0 08

s e L e ,
devoa; T 4z TOV YONUETOV TOU,
174. —Toémopev ta Sid6ueva €. 10 medfinua toito ¥hit-
s 0 T TR
G ora ele Ouovepa %ol lophdvopiy — = s

2o S

oE = pri

zZ0
50, o : ) ‘-’
=g (ove bregregel 6 Egov Exidocty 5.
1) .

175.—Tofroney té didépeara xhdonaca eis Sudvopa o

=0 g i U CMRUGE RN R,
MECHE - =00t % 1057, 36 105" 8T 103
’ ’ -t x o) -) 0 3
dodéviwy ;}\amumw pEFAAUTEPOY vt 10 —=  wil HAOOTEQOY
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b

176 —Toémopey i whdopure € Gotng dofelon: oeigdg i3
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7 14—~J-1z_+3 = 9g514 (144 1243=29,

316
3 2 855 18007 en S by
! e Ty = S T
Pl T TRaTE 315 + 315 315)'
DI 3 5%
H25t0 ot Ly + 58 t1 308 (piny
2 1 1 0 15 a0 63 168
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7
2

‘}‘J 1‘1{) 409 167 3

a4 60 + e
") ),)) . ) Ch 959/

jEM 100—181. —Ugoriﬂemmv ®al €xouev —4— Ox. —r*“—‘ o, +1(l

: m 8 ! 19 e
Ox. ox. + 9() ) % + 20 o Bre= 55 O 3= 2 B,

“i)
< - S A o Gy Gk ’ i
182, —Ioocd¢touey xai elQLOXOpEY. 8T :n]x.—j—?:)T ThY.
1 6 ‘ 1

—r— ¢ e 2 o
_16‘)—1—”87 =+ 5 ___1()2—8+ Ty

183. —Eizev Goypodne 1o ddootoua @v yonudrov mod 356
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6946 o A5 |
SR 00, = 0 8oy.

239)—"Ta néon tiiz mepovolag ta dmota Fhafov, 6 vioe xat
. A 2 4 18 20 38 . 1
xat 1 wGon £iva -;——i—-T’—:"-:- T e dote N ovlvyog E-
o < B §] o
SR HS TR R S T A TR S
haBsv T i hri%;:.: 15 Wéon vilg aeplovoing A TG o pEQY

tiic weplovoiag eivar TH00 Spay. dore Ghdxinoog 1 mEQLOVGLN

elvae 7500 dg, : 20X 55— 482142 6 vide Bafe
2 2 5 ;' ; @alid ; Sl
48214477)‘-(—-},)—- ]H‘;’S:)—.l;-- doaypm. nal 1) udpn Ehafe Opuyn

e Ay
482147)(7("-* 21438-1{.
- ) e 1 . 3
240 —"0Okov 10 zpfoz o . xual &LdQLoey == AQEOVG  nai
. e 21 T34 s s el e <
100 Spax. dxdun’ dote v #ydoilev pdvov 10 - 10 yoE0Ug i
Da P 3 o Ay 4 bt s o i 3
EhdpPavey 1660 dooy. "Qote T & 0¥ yofovg foav 1660 dooy.
BRI, a0 ot 1 1660%5 =iy
dpa Ghov 1O y0foC 1"1':0 1660 doy. : E :——52(— 80.=2075 dp.

not 10 -34 fwm —;- 50 —41H §g. “Qare Fydoroev 415  doay.

==hi15 by
241, — A tic 1200 dx. aizov Enhjpwoey 4 80.>1200=—4800
Sour. and tag 850 o Fhafey D 8o. X BH0=—4240 do. “Qote ai
1200 &x.—850 dx. firor af 350 dx. tod xoot{Couv 4800 do.—
i) ey e . BBO gl iy
4250 8g. #iror HHO Sp. doa % 1 ond »ootile L;-ri‘n do. 'n—.',—f’f) =
4
1 o doyx.

. ' = 3 2 s £
242.—-To mpdrov: didn dgat 1@ 4 gxwhiinoav 14400
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o

e A

80.. 16 —,_i-tm ge va moindf 5p.==T200 do. Exwindn 62

2

ngdg 7250.
1 £
243 —A@ot 1O — Toi Cnrovpévou aouduod, ovv 30 povd-

20

3 Ll = ; « g
dag Grorehel 1o 5 w0l Inrovuévoun, Exetar O, T pfon modh pé-

. 4 NEae 1 A <
vouv, Grav Gpagéomuey d&nd td —— TO 5—, Y& aviotogoiow

8 20
700z Tov 30, “Qore - — L e=® fitou 1a ¢.d toh [nrovpévou
5 R, I8 20 10 40
5 2 R ~ “ e 3 30340
glvan 0 30 nal 6loz obrog elven 30 m-__‘——__-lm

D 4 .
244)—Biéne oc) 128, *Apui.
245)—"Orav Gvezdonos o xutadidroy drpdrdowoy, 10 10d-

i y sl = 13 1H ] SRR A

OV Elye Saroétel 6-- u.)(l:.)—ﬂ—_x—~ Ii; —-m— wd. GAka o
HUATUOLD %oV Grprdah A o ] o b i
! tpandowov elg éxdotnv Ggav alnotdler 10 npdTov

- i 1 ; g :
KUIUSM~—6'2'M-:1"2— n. ‘Emopéveg Stda va o g@ddop, 9a
meQuoovy téoar Gow, Joag Qopds yweet 6 1-~],_ gle tov 97—
Sl ags - gl 105

AR &
5 s — . =6o0pav,
4 2

- 1
neor 97 5
2 2 3

246)—"0 0dondpog obrog #re v darpély eig 30 fup.—12
Nuw.=18 fAuépus, orddia 700—350=359. “Qore elg 1 Nuépav

Nases 1R s i
elvat —- . “Qote da

247) T &g g LI
) goloua ToD e B 9

[ﬂlrﬂ

9 13 9
£ R -~ e EN N -~ 1 a Y Y ’
Lxe 13 YOV 00wV ExeL, ta Groia elvan 5 nrot Vo elyey Enl adéov

e o e e s | ) - o v e

12 YWV 00WY Exer aldg 1045 1ol elval 20 Soogu. dore 14 Hla
g ey e gy

AQNUOTA OV euev elvar 20 Bp. T?._::QO dp. X 12=240 §py.
c s il ety 2 » o 8 , \
248)—Td o'. tréhorov elva —-" avrov O¢ Edamdvnoey 1O

R e RS

- 2 P At e 1 . 7 c ’

y L X—4———-2~0=-m~. “Qote w0 . Oadhowmov elvar

Adoeig "Agip. xai Ieop. Xattiddny 3
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2 u B Saaia e ; A 3 2 5
= = —— "AlAQ brol EdumdynoE T - = = .
e Alkd xod abrol edumdynoe T N0l 5 X 74
0y R L T 3 3 21 6 15 3
Oprte 10 y. vrdlouwoy ELVaL s e ) = 514"
. 1

SAMLG word TO meldinno Ta »15—4 elvar 48 doy. Gote Shov 1O mO-
8 s
14 3
Sieh, 134)—249. To v yihtoatdv wdpver 10 dendnig hootd,
0 Bv fxaroorov 100 xod 1o Ev déxatov 1000.
250)—T0 xatéyov Ty 31 Jeow naptotd Khiootd, Ty 4nv
dexdnig phootd, iy OV Enarovedug phioore xat vy Gmv EXGL=

cov elvar 48 dp. : dp.==16X 14=224.

ToppLELOoTd. g

251)—4 amhal povddes wduvovy 400 ératootd, 4000 yho-
otd xui 40000 dexndwig xthiootd.

252)—a) 0,343 B) 0,037 v) 0.0405 ) 0,00023 €) 108,000205
or) 71,26. :

oE < e L L SR

204}—'0,6 = -1—0" F (),1:‘)-—-— m ' 0,00-.—“ lU-UO B O.UOJ-— 1000 °
s S | B R L

4,‘23-——{60 2 0,0UI {0 ={60000 - IS.OOb Mﬂ———lOUD 4

255)—0 7,012 10=10,12, 7,012 100 =701,2, 7,012X
% 1000=7012 xai of dhiot Guoiwg.

256)— 10,4 : 10=1,04, 10.4: 100=0,104, 104: 1000=
=—0,0104 nai of dikot Guotwe.

Seh. 136) — 257) — ) = 184,326, £) = 127.83241, )
=—424,065129.

258)—ITgocdéropev xul elpionopey 1347,50 dp.-1-1445,75 do.
2500 do.+987,2) 8o =6280,50 dp.

259)—Elxe w0 ddeoiaua tdv xocdv mod Eninodinoay kol
Zxefvou oD ToD Fuelvey €15 TO TOMELOV TOV firor 16171,80 do.
 260)—03a efpmuey 10 Gdoowopa 45,75 0. -+ 53,35 de. -+
-+ 60 8p.45 1,45 do,4-54,4D do.04,45 dp.=322,45 do.

961)—To fiusonichiov tiig mEWIN3 fuécag elvan 35,60 do.+
417,15 8p. = 52,75 dp., Tviig Sevrépos elvan 33,75 dp.-+-
16,25 do. = 50 dp. xai the tolms finfoas elvat 37,8 do. +
18,85 80.=56,65 dp.— "Ev Sio 8¢ &damdwvnoe 39,60 do.+

&
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=4-33,75 80.-1-37,8 80.=107,15 p. xui EZomovépnoe 17,15 do.4-
+16,25 dp.-}-18,85 80.==52,25 Souy.

Sex. 137 — 262. 1 — 0,008 = 0,092, 15—6,072=8,928,
8,9—3,569=5,331, 0,75—0,075=0,675, 25,0378 — 18,127=
=6,9108, 462—268,846==193,154, 0,005—0,00059=0,00441,
1000—1775,0998=224,9002.

263) 160,75 — (15,408 + 38,5157 4 103,64) = 160,756 —
1225637 = 38,1863, 1115 — (69,07 -+-462,4--56-4-3,0005)=
= 1115 — 590,4705 = 524,5295. (3109,8 4 214,627) —
_(375.198-{—2115,0019)=3324.327—2490.1995):834,1271.

264)—-Xoewotel dudun 1812,25 80.—697,90 §o.=1114,35 do.

265) — ‘O dhog xarédeoev 64500 80.—37500,75 dp. =
=26999,25 5o,

266)—"Edwxey 200 doay. dow Mg vrélowmov EhaPev 200
00,— (18,65 8p.4-78,45 do.+27,75 50.)=200 §0.— 124,85 do.=
15,15 dp.

267)—"Edwxev &v Shep 2125,50 do. 490 80.4-1775,75 do.+
+1320,25 80.==6121,50 &. “Qote ypeworel dndun T105,35 80.
6121,50 8p.=983,85 §p.

268)—"0Ohndv xbotos tiig oixiag 125000 00.-+3164,6080.=
= 133164,65 do. Eaddnosy aduiy  avii 10750060 8p. 4
+43325,75 50.=150826,25. “Qote xépdog Ix tig peramolicens
150826,25 80.—133164,60 5o.=17651,60 Soy.

269) — Ilpéner va mooodéowpey v Swagoody 1000 —
465,1578=5H34 8492

200)="And o &hgoropa 0,0974-0,00346=0,10046.

Zed. 139—271.

1 T4T X 36=5606, 392 84, 863, b =297,010

68,0705 X 13=884,9165 H, 194,40 = 25,7655

168X82,003 =62978,304  2,008X1,01 = 202803
4 17,04285=068,17140 0, 383X0,0049= 0,001862.
272)--358, 1X0,2 =T71,74 358,7X0,02=7,174 358,71%

X0,002=0,7174, 358,7x0,008=1,0761,358,7¢0,03=10.761
358,1%0,3=107.61
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— 36 —

5819.58X0, 2 = 1163, 916 x.o0.x &g dvo

H819,58 X0,003= 17,45874 » »
0962 <0, 2 —141124 » »

3 ) Ol GE6 » »

9273—"ExMjpwoey 4,70 Sg. X 2158=10250,50 8o.

274 — Ei¢ &va uijva 9a olkovouion 25,75 dp. X30=757,50
xal €l Ev Erog 25,25 0. X365=9216,25 Sp.

975 —"AE{Covv 37,4 do. X 64,5=24.2,30 do.

9276—0¢& davioy 37,7 y. X 16,8=633,36 .

277 —"Edaxdvnoe 376,4 80.X0,356=131,74 dp. »al 10T &-
pervay 376,4 X0,656—=244,66 6oy,

978 —"Endhnoey 534,50 &uotoviddug moproxdhia xal eloé-
neatey qmd adrag 179,45 do. X H34,6==03778,02 So,

979—I[Inodvel duk Tode Eoydrag H2,THdp. X 46=2573,7Hdp.
xal Oid tog foydribac 88,25 do. X 63=2409,75" dote &v Shg &
fusoopioda wds fpéoag mhnodver 2373,75 dp.+-2409,75 dg.=
=4783,60 do.

980 —Eic 1 fiuéoav olxovouel 77,4550. — H8,3080.=18,63 do.
Gote £lg Bv Frog oiwovopel 18,65 do. X 360=6807,25 do.

951 —0f 5 cdrror Cuyilovey 31,6 dx. X H=15H8 dx." dpa &-
nijowoev &v Ghg 19,65 dp. X 158==3104,70 do.

82 — ‘Ex tov 12000 xo. Sguyu. Exdjomoev ®g tolaitag
12000 80.3<0,35=4200 yo. dpay. xal & adudg éaxhomoey &g
qaptivag douyuag 15,03 dp, X4200=63126 éxMjpmoev  dpwg
wut 12000—4200=T7800 yoo. douy’ dote Ev Jio éxhiowoe xop-
tivag dpayudg 63126-4-7800="70926.

Teh. 143—233.

9,09 : 9=1,01 HgihilR eSS =031 G 8

e —=100%1 S a s Sl e

0,0085: 7==0,0005 0,346 : 231=0,0015

5.0024: 8=0,62p3 9,765 :1000=0,0093

984— 0,569 : 21=0,027 3,4: 701=0,005 ( 0,004?3—2)
73,18 :137=0,534 76,5 : 859=0,089.
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985 — 24, 8: 7—3,5429 (xad.ixeo.) 208,7 :419=0,4933

142,56 :23=6.1983  » 0,572:308=0,0019
{nad, Daen.).
286— L =05, 2-—=0,75, 2 =0.4,§-=0,875, 15 =0.6875,
1)

9 o L
550,36, Q~~n BO3T5,1=0,325, Si=0 421875, 125==0,388.
287—2 2 =2,375, fsl, —3-1 =39, Tor =1,45,

112 11,2695, 5%-L=5,605.

29200
288—3ek. 143. “Aoudu.
289 —Endince v plav oxdav 3677,20 dp.: 282=—15.85 do.
290—0f 2oydrar fioav v Sl IX T=63. "Qote 10 Tuepo-
utoov Evig Boydrov fro 3008,25 : 63=47,75 do.
291—Ta& @iMa tod fifflov foav §20: 2=160" Blt-n:e t‘na T
howra oed. 143,
292— 2 —0,75 Gove 0,754-0,275=1,025.
293-2.2.=25. “Qore ouev 2,5X4,8=12.
ek, 145—204
0,85 :0,7 =3h :7=05 ~ 2:05 = 20 :5—4
0,45 :0,15=45H :15=3 30085 =300"" : 2h=12
0,006 : 0,06=0,6 : 6=0,1 72:0,09 =7200 :9=800
9.072 104 =0,72 : 4=0,18 144 : 0,012=144000:12=12000
295 —Awopdotéov eic 2875 : 2,875 = 2875000 : 2875 = 1000
819 : 0, 0819=8190000 : 819-=10000
8675,6 : 0,001=8657600 8.5604 : 0,4=85.604 : 4=21,401
345.,6 : 0,064=345600 : 64=5400, 0,00027 : 11,07=0,027 :
1107=0,00002.
296—IToémen vy goyuod) 638,75:8,75=63875:8TH=73 pac.
297—"00ug popdc zmoel 6 0,70 &g tov 2085 Hror 2085.0,7h=
==208500 : 75=2780 cw.
298—"Elafe 884,25 dpay. nwlioag 884,25:7, 86=112,5 dx.
dote Ghog 6 olvog firo 112,50 dx. X 2=225 dx.
299 —Elg #raotov nijyvy Exéedioe HT do.— 48,75 dp.==8,2bdp.
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e o ga

Soac 8% qoode ywoel & 8,20 elc tov 693 rdoovg miyele Exdhnoe
Hrot 693 : 8,25=69300 : 8256==584 any.

300—°H xd Enuivo 208,80 8p. : B = 2088 : 5,5 =

=2088 : H55=37,96 mepimov.
301 —"Exedh of ydotivan doazuci 300,40 tooduvanodv mpog

(3

e o . 5 = . 2() hnie 5
20 yovodc, § 1 yootivn loodvvapel mode ——— xai ai 1000 oo
40

300
201000 _ 200000

Suvapotv ez S0 — 3008 50 TSy S

302—"Ex tiic »o10fic tv 6molay Endhinoey Elafe J—])— do. X

><50-§-=3.5 §0.X50,75=177,625 5. "AM’ Eredh) Lnuddn

40,6 Soy. Bxevar Guu v Nydpaoey dvti 177,625 dp.4-40,6 do.=
=218,225 §p. tote fwéQ‘uas v 1 dnav xoudiic moog 218,220d0:
50),7H=218225 : H075=4,30 do.
Sed, 151—303—Eivou ol
b-id-y HEEEE D HENE S G S AR 100
(1 @ @B @4 6 6 O © 9 (10)

304—,/18 =4 zatq mooagy. 1 Ve =38

VOB —0 Pl V5 =8 xata mpooéy. 1.
V38 —56 » » 1 Vvae =9 » » 1
V48 =06 » » 1 Va9 "% »
V100=0.
TaeaaY D
305—y 28 =5,2 \/—5—1‘—‘\'0.60 =0,17:

; 5 AR e s
\ 3,00 == \/?4_06_" 1—06—0,3.
< 2 o \
306—8,34 =2,8 \/—i? "3“:\ 47.67—6,9
5 v s et 1
V 9432=97,11 \/T”‘ T esn—1.15
307—Elvan % V575=23,97 »axa mpooéy. 0,01.
308—'Ex tiic yewperolas yvooilouev St 10 terodymvov tiig

frotewodong dpdoymyviov towydvoy tootrar ue to ddgotopa Ty
TeToaydVIY THOV o dMhov mhevpdy attol fitor Eviatia pE 1o
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122+6?:144+3{3:=18(). ‘Eropévog 10 pfixog tis Droreivovan
ioottal né 1i80=18,41 u. xard meooty. 0,01. A

309—Af 400 8o. wduvovv 40000 Aentd, fj tero. oila 8¢ tob
40000 8iSe. to CTyrovugvov: elvar 88 vaoooo = 200. “Qate Myo-
oage 200 dx. oo 200 Aemrd tiv drdv.

Sed. 156—310. "Agod & 1 wixpdg afixvs =0,64 . oi 158
piool njyers wduvovy 0,64 w. X 158=101,12 uéroa. s

311—1 rex. iy = 0,75 u. doa Eropev 0,75 w. X 280 ==
=S o

312—1 p. 1.=0,64" doa ouc poods ywoel 6 0,64 eig Tov
464 t6g0vs p. e Yo Adfouev fitor 464 0,64=46400:64=
720 miyews.

313 —"0uolwe @ dveo Fropev 261: 0,75 = Al —
=348 tex. aNyELC

skl
314—a) 768,5:0,914=T68500: 914= \-I_Uiﬁ vdedat
: 3 = 488 o,
B) 768,5:0,669=T68500: 669-=11457 doalv.

315—Toémouey modrov tag 109,H vded. g péroa elval dE
0,914 1. X105 zal ta péroa tadra elg- pxpods miyels Hrow
0,914X105,6 91,4+~ 105,56 B Ve
-—WL:——MHJ‘J:h)O,Iﬂ WiQOL TVLELC.

164 —01 312 uwoot miyeig rofmovrar eig péroa 0,64 312

0,64X312_ 640X312 _ 114 ¢,
e e e Y

317—1 vavr. pik=1,852 u dare Frouev 1,852 ph. X 117,25=
=217,147 nh.

318 —Atogotpey ot Eouev 468,750:1,802-=468750:1852=
=253,10 vavr. piha nepinov.

tabta 8¢ eig tdpdag

Zed, 15T—319. — “Exactov oixdnedov dnoveheiran o 1840
T.7.:10=184 1.. Toénopev adrovg elg Texr. teTp. My, mohharha-
=4 2 I(‘ cr £ 1 y a7 ] A
UWCOVTF;EEI--Q{’ otrm e-,gousv—?)(lﬂ:f%h-(r TEUT. TETQ. ANY.

320—1 &xr. =10000 ter. pérp.==10 orpep. Gore 25,4 fxrd-
oL drotedeital o 10 otp. X 25,4=254 arpep.

321.—15,48 Baoh. oroép. isoduvapoder ué 1000 tevpay.
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R

uéto. X 15,48=15480 terp. pfrou xai avra icudvvapolowy moog
15480 : 10000 =1,548 &xtdola.

322.—1 nak. orpfupa=1,27 Bacik. crofu. dore 6,75 mak.
orpéuptite = 1,27 Pactd. oro. X 6,70 = 8,725 Puocik. arpen.
Tdoa 1 Baoik. oro. Erwhifdn meog 2500 doay.” don tva 85725
Paodk. argfu. Exoridncav moog 2500 dp, X 8,H725=21431 25
doay.

o 4 r
3923.—1 tero. @hyelg amoteheitar auo 100 trrp. moddpag i

Mote to ddredov droteheitar amo 100 tero. mak. X ‘20:20(10
teto. mek. Ereadn 8t fxdorn nhit Ere fmgdveiay 2 tero. mold. |

Enetar Gt Sk 1o ddredov dyosidotin 2000 : 2==1000 mhdrag xai

mooe 0,70 Soax. fi 1 ai 1000 akdxeg GEiovy 0,75 dp. 1000
doay.

Seh. 158. 324.—a) 1 xvf. uéro.==1000 »uf}. mald. dore ai 7000
wuf). mah, anorelotiowy T xuP. pérga. B) 1 »uf. pérgov=1000000
wuf. ddxt. dote ol 35000000 svf. ddnr. dmorelolioww 35 nuff.
uéroa.

3925.—1 wuf. mokdun=1000 xvf. ddxtvior @ote If} xuf,
mad. mepiéyovor 1000 wuf. B(ix.Xl%:li’:')() wof. doxr. ) 1
wufd. pére.==1000000 xvf. daxr. (’iga-i;)— wf. pérp. = 1000000

%uf. Sdut.X—?)—=400000 #wuf. ddur.

326.—1 xuf. pérpov yepiler pé 1000 Alrgpag dote va 7,45
wuP. uétp. yeuiCovv ug 1000 Aiv. X7, 45:7450 Mroug.

327.—1 xothov=100 »vp. mal. =10 wof. mijgeme dote 200
wotka xoarahappdvovst y@oov 3%{ wwf. miy.=26 xvf. miyec.
Teh. 160—328.—a) 1 Spduov=3,2 youp. dou 150 dpap.=3,2
yoou. X 150=480 yoau. f) 1 dx@=1280 yoapn. dou %— TG Ondg

=180 yguu.){%—:SOO YOO

1
32

5 = 4 y 1
329.—Agol ta ??) yoou.=1 dpap. 0 15 Youw. =
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nd SRl - 1 ; 10
ot doup. xal T 1o Yoau. m 1 yoapu = 45 X 10 dorp.== —55
dodiua,

) AT 10%320
1' doapn. ta 320 yoap.= ——5—

< 4 o 1
330.— Aot 1 vouu. ==y

doapa=100 doau.

331.—AT1 15 b wdpvovy 400 Soop. X 15=6000 dpap. don
F/'WH' &v Bhe 6000 Soa. 4250 Soaw.=6250 doapn. Tdoa 1o |
= |Pm'm =3.2 yorrn  dote 6250 Soap.=3,2 yoap. X 6250 =20000
’_,_,,h'ouu firor 20 by

/‘v// 332.—Toérouev modrov tig 48 ox. elg yihidydpupna: 1 dx =

// 1 28 yuh. cdoa 48 ou.==1,28 yih. X48=61,44 xhidye. Eredd 8;‘

' & 1 pikidyo. Exhiowoe Saoudy 1242,20 Spay. Sui vae 61,44 yu-
Méyp. Emnhiowae daopav 1242,50 doay. X 61,44 = 76339,20
doayds.

833.—1 orar.==44 5u.=400 BSpun.X44=17600 domp." 1
uhibyo.=312.5 doau. doa Goas gopds xweel & 3125 g tdv
17600 téoa yihibypupua wdpvovy Eva otarfipa firor 17600
 B125=176000 : 3125562 1.

20
334.—1 agodvrioy =500 yoaur.ijrol 1)
p tooduvagoiiol ug 90 whibye. “Enedn 8¢ 1 ow=128 wd.,
00ag Pooag xweel 6 1,28 ¢z tov 90, glg T00ag Onddag tpémovral
e 180 meovvia: Brouev  Exopévar, 90 : 1,28=9000 : 128
70-— oOx.

- wihidyo. Gote 180

33-) —Ta 8 yhidyoap. wal 562 youuu. xduvovy 8562 Yoo,
Emeldn 8 1280 Yoauu. xduvouvy 1 dxdy, 8oag qoodg yweel 6
1280 el tov 8562, tho0g Hxddag da Adfwuey: firow 8562 : 1280

441
= FM—O Oxaid.

2 2 e’ T i ’ ~ ’ | ’ -
336.— Apod ¥ lhtga OV Qaopaxelwy elvar meoimov 115

Bedimar 19 1 Soum.—1- tiig Aivgas Exfons dgod 1 Arow=12

FiA Wal
ovyylay, to T fic Mrpog 1115 tiig 0y ylag apod wdhv 1 1 ody-
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; S o s o §X12 oSy 5 S
yia=8 dgay. td 115 V15 otyviloc=—7= Soay. &xiomg 1 deayy
S sigsen e o U BDNRNID il el

=60 xéxxor ol —j{E— Seupnul=——77z ﬁot)———zzi nO#ROL.

Ted. 163—337.—Toénovran elg 37D S0, X87,25=32718,75 do.

338.—“Oocag @oodts xwoel 6 370 el tov DHBRT,HO fivou
55687,50 : 375=148,50 Moac.

359. —Kduvovol 18,30 doy. )X 124,8=2290,08 S oy s,

340.—Oaac goods yweel 6 7345 tov 18,35 ijror 1345 ¢
18,35=400,27 pdoxa mepimov. :

341.—“Ocag @ogig yweel 6 39,60 gle tov 6276,60 irot
6276.60 : 39,60=158,5 Moas.

342.—a) Kdpvovor 10,85 89.)(1648.4:17?,\'8:3,14 doay. By
Kduvovor 77,25 0. X T50=57937,50 doay.

343. — Kduvovor xoodvas Adot. 11718 : 10,85 =1080, =at
S oMdpra 11718 : 7.7,25=151,69:

544.—Kdauvovor 3,02 Bo. X 2147,6=6285,T5 doux

315, — Kduvovor 14,87 50. X 1050 =15613,50 doay.

346.—“Ocac @oode yoeel 6 3,02 flc tov 937,05 firoe
0375.55 : 3,02=3104,48 @oay. mepinov.

347.—Kduvovat 6256 : 1,36=4600 dnvdoLa.

348.— »  2704,80: 0,48=5635 A&
349.— » 12800 : 0,64=20000 Aéfi.
350.— » 4,04 80.X73458=29677,03 doayuds.

Sek. 167—351)—a) 15u.=150 mak. 150 mak.+7 oh.—=157
nah., 157 mah==1570 dax. xai 1570 dax-4dax =1574 daxt.
B) (238 ox.==400 Sow. X 7238=2895200 dou, Gote  &v Ohg
92893200 dpu.4-300 Sopu=2895500 dou. v) 34 Aie.=20 oeh. X 34
—680 oth., 680 oeh. 15 oeh. =695 gek., 695 oeh.=12 mev. X695
8340 nev., Gote Eyopev 34 Mo. 15 ogd. 8 nev.= 8348 mev. d)
65 =S8 0. X65=>520 g. Gote 65 mny. 6. 0.=5H26 .

352)—a) 49=—60" x4 = 240", 2407 = 247, 247 = 60"
W 247=14820" &ore’ 4° T 40”7 = 14860” B) 6 Nu.=24 do.
6 — 144 Go., 144 do.+10 do. = 154 do., 154 Go. = 60’
DOl ba=—192401 9240'4-25" = 9260, 9265 = 60" X 9265 —
555900 Gote 6 fu. 10 dp. 25" 407 = 553940".
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353)—12 oeh.=ioviic Moug = —- Mo. Gote T Aip. 12 oeh.
=72 .

354)—a) el Mpgac. —40 ypdoia = 40 mag. X 40 =16007ap.
%ol 1600 rap.+15 mag.=1615 mag. Enedh d& 1 Ao v. = 4000

moQ", of 1615 nagddes elvat ti—oi tiic Mo. 1 oo dhove 3 Ao
g, ot 1619 mapaoeg glvat Tga00" TN Me- T g5 3 Alo.
323 - eyt 2Ty

800 Ao.. B) elg yo. 3 Aip.Tovp.=100 vp. X

X 3 =300 yo., »ai 300 vo.+40 yo. =340 yo., 15 nop. =

T. 40 yo. 15 map.=3

15 3 e = 3 3
=7, Yo- =5 YQ. wote 3 A 1. 40 v0.15 mop.=: 40--{5— YO0.

B 0

il ey e 3 ’ . P8 B -

3656—"Emed) 8 0.=-g- mfr. of 20 miy, 3 0 :20-&— any.
s e v . el s o

306 —"Exeldn 1 mokdun elvon 1o 4§ TOU nergov, o ddnrvhog

€

vl e L 5 1

— 1) A ' At Y Y |9 3 )
TO355 @UTOU xat 1) youpph 1o 1000 EXomey 42 n. 8 mah 6 3.
D v0.=42,865 uéroa.

357—50"=60"" x 50 =5000", 30007 4-20"=3020"" akka 1do.

—={Hj¢ 26 ] ’ A Uz er 15
=60"X 60=3600"" ore 5020" —3020 151

— —— 0. T,5, WC. HoOL E7T0-
500 0 Mgy ¢ :

Hévas B do. 5020 =510 ¢
5150 @0

353—19 61.=400 §ou., X 19=7600 dop., 7600 Sow.--250
dop. = 7850 dop.  @iha 1 otat.—=400 dop.X44=17600 dou.’

dove 7850 dop. =290 5§ 17 siar wal Emopévors 3
Q= O fl o5 ovar xal Exopdvag 3 ot
o157
1 50 dpp.— .-3,;_)_,‘ GTUT.
D

359—"Enretdh; 1 oeh. =12 mév. v 2347 mévvu meoidyov 5,
oeAhivie 2347 : 12—=195 oelA. xai mepLoo. T mév,

360—"Ened 1 Ag. Gyyh. =20 oeh., 1@ 195 oeh. e
#ovot Meas 195:20=9 Afp. xal meprocetovot 15 el

361 —Efpwuey 8o 2347 mév.=195 oek. T mév. xai 195
oek. 9 Mo. 15 oeh. dove 2347 mév. =9 Mo. 15 oeh. T xév,

3:}2’—- O Inroduevos xavov apopd S18duevov GUYKERDIU -
VOV axeoatov doidudv.

oté-
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Kavdv. A va toépopev Sodévia cuyrexopuévov dordudy,
Sortig Grorehelton Gmd povddag tdfede tivog elg ovuutyd, teémo-
pev adtov ele povddac tic dufome dvorépas Tdteog dlagoiivieg
S tob doduob Gorg Seuvdel mhoaw wovddes ths dodelons vd-
Eemz wduvovy wiav povdda tiiz dufowg dvaréoas ol TO WEV
anhixov tiiz duapfoews todins wagiotd povddag tiic Auéows a-
voréous tdisme, 10 08 Drdhowtov povddag tiig dodelong tdtews To
eboeddv mnhixov, tofmopey xal) Bupowoy todrov, £l povddug T3
Guéowe dvortéoag tiErwg xai Earoloudoipev olrw, péyois Hrov
shomuey mnhixov tob 6rofov ai povideg dév mepiéLovot povddag
Graoifoas tdfewe. ‘O Tnrovpevos 88 ouppwylg GroteAeitan ano
o tehevraiov anhixoy ®od v Dot TV draipéoEwv.

363—a) 36 o=4 miyx. 40. P) 900 dou.=2 ox. 100 dpu.
y) 42 oeh. == 2 Aio. 2 oeh. §) 108 moh. = 1 dexdu. 8 mak. £)
A468'=T bo. 48".

364—a) 16765 Sodu. = Sox. i) 41 ox. 365 dou. B) 10174

400
név. —l%}m:l 847 ceh. wat vmoh. 10 mév., 847 U&?\-—SH =

=42 Ap. »oi Vmbh. 7 oeh.” @ore 10174 oed. — 42 Ap. T oel.

10 mév. v) 232465" =220 — 8874 al fmék. 257, 3814 =
3284 —64 do. xol Umdh. 34, 64 cf;g.:%i—:&% fiu. ®al Umoh.

16 $o." dote 232465”=2 fiu. 16 do. 34" 25".

355 — 214816 =00 §) 3580" xd xdl. 16”3580 =20

590 xai Bx6h. 40" Hore 2148167 = H9° 40" 16", B) 15311

15311, 7 3827 mév. wal bm. 3 . 3827 név. —.-18—2—7— agh. 1)

n

95.::

=

12
318 oeh. xal Owoh. 11 név., 318 otl_,— AMp. ) 1D Alp. xa

S, 18 aeh. Gore 16311 @ap.=15 kip. 18 ceh. 11 név. 3 @uo.

) 45350 Bodn =020 3y ) 113 éx. xal Ir. 150 dow., 113 ox.

_u3
44
150 don.

ot. §i 2 ot. xal Dok, 2D Ox. wore 45350 dp.=2 ov. 25 ox.
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: i3 ‘ 1 -
Zed. 169—366— a) 2-'—'}!-52.:’:—2 dx. 300 dou, [-J"')S‘jf Ll ==

, = T QR 3 . >
=8 ay. 2 0. ¥) 13-1% Ho.=6 Mo 35 8) 9 4 Mo dyyh. =9 &

15 os)
q 15 il 4 444, 176, el =
(5(17——(:} — O0T. =3 5 {03, 7y ‘5—:_‘:——:-_)—- O, ——‘T-"'g-{))f.——(}-')?) Ox.,

-—;— 6){.:_%)2%[1_:%0 dop. (T)(St.‘i-li.?-- grar.=3 otar. 3D ox 80 bo.
B) i —d . GG - A= . =2 o vl Bo.=
=6£;—<~G'-—-: 40" Gote %7— fiu.=4 fp. 2 de- 40, Y)% g =
=3i$5§rn' anhC vlic‘j,) ﬁt}]:%s unv. =6 "S—)‘ unyv., xai '1%!”1"-
=X . =12 fiw. Bore 2 fm=3 . 6 pov. 12 .

e | i f L0 e
368)— a) 35 Mo, dyy. =T -:—E)‘-?.Lg. dyy., xol 5 Mo. dyy. =

__20X15 12 12 12 i 1 :
e e oEl. :9-3-2, GEL. %l = ol T / ::4§: TEY
o Lh 4% 16 g0
T -52_5““":%(2“) pag.=2 qao. (T)Ura%:}z‘—} AMg. =T Afp. 9 oeh
4 név, 2 1390 AP e 0O C TR D e 1D
-4 Qoo ) ——=3—. G\& = =5 nole—
p) i 3—43 alha 5 i5 45 "l

GOX 15" 3
S B e SR RBON ey o
e =20"" Gote 25 =5l ne )i

369)—a) 4,25 (;3@.=4_§_ Ho.=4 do. 15", B) 8,375 miy.=
o b e s
=835 mi.=8 mily. 3 0. y) 045 Alo.=45 ye. 8) Ta 0,1875

‘Ef’l'-lg Auépog=24 X 0,1875 Go.=4 xai 0,5 Go. Hiror 4 do. xal 307
bote 15,1875 fin.=15 fiu. 4 do. 30'.

el 170—370)-—0) 1 dx. 300 dpu.+4 ox. 200 Spu.=5H oOr.
500 8ou.=6 4x. 100 dou. P) 6 wny. 5o.+3 my. 4 0.=9 any.
9 Q.’= 10 any. 1 o. v) 2 Mp. 8 oeh. B mév.+ 3 Aip. T osh.
¥ 7y =5 Ao. 15 ok, 14 név.—5 Jio. 16 oeh. 2 wiv.
) 371)—a) 3 vag. 2 moS. 10 dax.+5 Hag. 1 wod. 8 dan. -1
vag. 7 dox.=9 fag. 3x.25 §.==10 fap. 2 m0d. 1 Sax. B) 2 doy.
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— 46 —

3 w68, T dan. 5 vp.-1-6 doy. Dn. 9 8. 10 yo. = 8 dpy. 8 ndd.
16 8o, 15 yo.=9"060. 3 m. 5 8. 3'vp.

372) — a) 7 do. 45 A. + 3 do. HOA. -3 do. 20 L.=13 Bdo.
116 A, =14 8p. 156 X, B) 3 or. 17 on. 200 8p. +8 or. 38 ox.
200 dou.--3 dx. 160 dou. = 11 or. H8 . HB0 dpu. = 12 or.
15 éx. 160 dou.

373) —Igoodéropey : 14 Alp. 8 oeh. B nmév.-+-23 hip. 1 oel.
11 név.4-45 Mp. 14 oed. T mév. 2 @up.--101 Ap. 8 ceh. 2 pop,
=183 Aip. 26 oeA. 18 m. 4 qap.=184 X. 7 ageh. T mév.

374)—M#éyol tijs 6 A. 1884 moapnidov dmo tijg yevv. tOU
Xo. 1883 #r. 11 pijv. 6 fju. eic adrd mpoodéropey 42 Er. B ufyv.
12 Hu. xal ebplorousy 1926 #r. 4 pijv. 18 fju. fjrov ele tdg
18 Matov 1927,

315)—Thv Bav fuéoav psrépege 64 ot. 25 dx.4-10 ar. 30
dn.=19 or. 550x.=80 ot. 11 dx., &v® v ynvperégepe 64 or.
25 0%.~-80 ot. 11 du.=144 or. 36 dx. “Qore 8v Ghp petéQeps
64 or. 25 0x.-80 or. 11 dx.4-144 or. 36 Ox. = 288 or. 72
Ox%. = 289 or. 28 Ox.

Yeh.172—376)—a) 3 6x. 200 dopu.—2 dx. 300 dop.==300 dou.
B)Dor. — 3or. 15 dx.= 1 or.200x. v) 23 ;. 3 0.—14 mny.
Ho.=8mny.6 0. 8) 30 Aip. T. 40 ypo. 20 m. — 17 X. 60 yo.
SO SR O RS S

377)—a) 62 Mo. dyy. 10 oed. 9 7.—29 A. 12 6. T . 2 @.
=32 A. 18 ced. 1. 2 @. f) 47 or. 300 8p0.—28 or. 25 O
=18 or. 19 éx. 300 8. v) 9 fu. 7 do. 835" 15”"—2 Hju. 14 dp.
B0’ 20"=6 fu. 16 do. 44" 40",

378)—To Nydoucev dvri D tak. 3 do. 50 A.—1 tak. 4 So.
60 A.=3 tak. 3 dp. 90 A.

379)—Tot dméuewvay 7 bao. 1 wols. 7 dox.—3 vap. 2 mod.
1058 =35 Woo; 1w 9 5.

380)—"Eyopev 1927 #r. T p. 11 §u.—1891 & 1 unv. &8
=36 &r. 5 n. 13 fju. "Anédave Aowmdv el fHlniav 36 &
D . 13 M.

331)—Méyzor tijs neonuPoioug 1o taeidiov diooxel 12 ®e.—
T ®o. 16'=4 ®o. 45" »al dAhac4 Ho. 18 w. p. &v Sho 4 do.
45’44 @p. 18=9 Gp. 8.
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Ae

832)—Axd tiic 6 dp. 25" m. p. tiig wdc fiuboag puéror Thg
B . 20" .. thic Exopdviyz neoolafololy 24 Gp. wol péxot Tis
T Go. 40" . u. peoolafoiiow T Ho. 40'—6 dHe. 2h'=1 dp. 1D
fitor &v §hw 25 Gp. 15

383) —Qa elowuey modrov to ddpotopn 14 A 8 oek. T
wEv.4-18 Ao. 3 oeh.—+ 48 Mo. 1D oed.4-76 Aip. 15 oed. 9 mév.
=152 L. 2 geh. 4 mwév., GI° &nd adrd V4 dpuipdowuey Ty Ex-
mway D hp. 18 oeh. 4 mév. vl Do Eouey 162 4. 2 oeh. 4 n
—hH L. 18 oceh. 4 nev. =146 . 4 oeh.

Zed. 1783 — 384)—3 @o. 15’ 44" X4 = 12 ©o. 60 6=
=13 dp. 2’ H6".

9 or. 35 ox, 240 dop. X V=81 or. 315 Oox. 2160 dou. ahrda
2160 dop. =5 dx. 160 do. 31D dn. 45 dx.=320=T or. 12 on.
Mote 10 ywouevov elvue 88 ot 12 ox. 160 dop.

2 Mo. 17 osh. 4 zev. £ @ap. X8=16 Aip. 136 ocek. 32 mev.
16 @ag.==22 kip. 19 oceh. 16t 16 Quo.=—=4 nev. 32 mev-{-4 mév.
=36 mev.=3 ozh., 136 oeh.+3 oeh.=139 oeh.=6 Aig. 19 oed.

38D)—9 fin. 5 Ho. 52 207X 18=162 nu. 90 GHo. 936
630" = 166 fin. 9 Gp. 46’ 507 déu 6307 = 10’ 30", 936’4
H10=946'=15 Go. 46", 90 Go. - 15 do.=105 dg. = 4 Au.
9. o,

12 amy. 6 0.X45=540 mny. 270 0.=H13 mz. 6 0. dibu
270 0.=33 amy. 6 0., 14 fdo. 7 dun. X 16=184 dig. 112 daux.
=187 Gdo. 4 dax. diér 112 §.=9 m. 4 8.=3 dap. 4 d.

386)—0Od v perargéyy elz 2 do. 20" XH=10 &po. 125'=
=12 Go. 5" 816t 125'=2 Go. 5.

387)*21!\{@01;\; 1 ot. 15 dx. 250 80.X156=1D ot. 225 ox.
3750 dou. = 20 or. 14 3x. 150 dow. diént 3750 dou.=9 ou.
150 do., 225 dn. 49 dx.==284 dn.==H or. 14 on.

388) — ZvouiCovv 10 Afp. 16 ceh. 8§ mev.X 21 = 210 Aip.
336 oek. 168 méy.—997 Mo. 10 ogh, di6w 168 név.=14 cel..
336 oeh. 414 0eh.=350 oeh.=17 Mp. 10 ogh.

: 389) — Xopedteran Bpoopa 2 tap. 1 med. T 6. X24==48 tag.
24 = 168 8.=60 ap. 2n. S16n 168 6.=14 n., 24n.+14 n.—
=38 m==12 {ap. 2 m.

390)—Eis 1 mijzuy exéodioe 1 Mo, 6 oeh. 1 . —1 Lip. b oed.
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e

10 m.=3 mev. Gore ez 400 mhy. Exéodioe 3m. X400=1200 mx.
*AMha 240 mev.=1 Aip., dote 1200: 240=5 MAio.

el 176—391—28 nny. 4 0. : 6=4 nny. 6 o. i 280:
6=4 mfy. »ai ndh. 4 iy @irad =8 0. X4=32 0., %ol
BoIt LA 06 0 GhoTE 36 By L 6=0 0.

79 A. T ogh. 6 mev.: 16=4 1. 16 aek. 6 mév.

DU or 17 An | 300 Bl s o16=1 1., 93 . 43% Son.

302)—88 Atp. 17 aeh. 1w : 63 == 1 A. B oeh. 2 m. 2 @.

56 vap. 9 8. 230 = 1 9dp. 2w T
Bidb. S 12E =t A
303)—H 1 fdo. GEiter 12 5. 7 oeh. 10 .1 8=1 L. 10 oeh.
11 7. 3 o.
394) —1 yhidp. 1 dwareéye stc 1 do. 207 64=1" 15"
395)— 0 1 odxnog Cuyiler 10 ot. 28 d«. 30000, : 20=18 ax.
300 dop.
398)—Td 1 tepdy. Loylter 1 tov. 330 At s —= T
600 yoou.
397)—Efoloxouev modrov 1o ddgowona 40 A 10 agh.
nev.--60 kg, 19 oeh. 8 mev.==105 A 20 oe}. 1D aev.=106 A
10 aeh. 3w, wal Bretra Stopofuevy 10 eboedév ddoowopa &' 6
106 A. 10 ceh. 3 n. : 6=17 Afo. 15 oeh. 2 @.
398)—a) 9 Bp. 35" 127X360=34561 Go. 12" didu

Eromey 9 d’ag 23000 E == 3240 Gio,
S 30 = -~—-t1|, Goag == 180 de.
35 2

{-)'z%—t(f)v O 30 ®o.

(- 1" dlde 6 woag).

s v = e
B) 4 ot. 33 dx. 320 dpm. X 160=762 or. 40 on
4 at. X 160 = 640 otar.
e 29 (’)x.z-;fcmt. =0
3 11 (°Jx.:f_lj—tﬁ'w 22 du. =40 2
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(1 6xa 8idel 3 ot
200 dop.

320 dp. 1100 »
200 »

¥) 7 Aip. 16 oel.
7 M. X210

|
|

10 oeh.

16 oeh.

D ogh.

G mév.

1 geh =

98 ax.)

1“*;* . = 1 ot.36 dx.
=5 1B 200 dou. = 40 Bx.
—":-71.1— tav 100 dop. = 8 du.

761 ot.84 oOm.

8 név. ¥ 210=1645H Ap.
=T1470A;

:% Mp. = 1055

:%- tov 10 oeh. = DH2>» 10 ogh.

s }) OV Dioeke = 1050 10ioek

= —;— Totu ISeel he==" " Hi»  Higeh

~~—:;-— oy 6 . == i 1h oe).

1645 Aip.

doy. 80 hent. X420=5443 wak. 1 dpy,
12 tad. 420

= f)Q-lO TaA.

5 1 i <
2—- bo.= 5 10U tah. == 210 »
1 il E
4 doax. 1 do.=-1@v 2-8p. = 105 »
—11 dp :%, T ]% e Al
(1 Spay. dtdec 84 vah.).
k3 R
B0 A== rilc Souyx. 42 »
80 Aex 25 1_:_17 1ov DO A ] S
b h=— v 25 ). — 4 » 1%
5443 » 1 Bp.
Adoeig "Apidp. 7ot Teop. Xorliddnn 4
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— H0 —

3 (17 m. :59.)>(3:

Yk, 182—399)— o) 1T mny. 30 X~
SRl GO e _I‘
=——1—--——_1-5 T 0 '
A 4 92 dp. Hnod. X4 91 6027 1q 3,
) 22 do. B ﬂOS-X“5—:7i—"-T—F _—wT——lb 00.
3 2
sty 7 0. 2"5" YO.

- y a2
v) 35° 45’ 2()”)(-‘3?:—'119“' 11 (143— Stot
7 SR e 1
350 45 20°%3=107" 16’ xal 3b° 45" 20" X7~ = 1512
2 L o A A
55° 62 wal 107° 16110 55’ 65-=119° 11 675 .

: ek i
§) 40 or. 32 ox. 200 do. Xl—-—F)US ot. 3 dx. 3124 dop

ddtt : :
40 ot. 32 dx 200 80. X T=28b or. T on. 200 Sow., 40 or.

. 9 366 av. 28 6z. 200 dp. ___ g9 2ol

52 dn. 200 hQ.Xﬁz T — 92 or. 40 ox

112—_1;59,‘.1. wal 285 ov. 7 6x. 200 dou. -+ 22 or. 400x.
TS 5 it

12— ==308 ot. 3 oOx. 312 5 dou.
3 : ; SR
400)—a) 15 p. 6 & 9. : =i 15 6 n 9dX5=
:_-7i“'_;’_‘.ﬂ.:95 a1 m 58

< 4()1: 3 6p. 20, Xl[) _4667.280.__
B)sd6 v, 3 8p.20°4.: 0.8 g g

=hHaT. 1 6@. h0 A

e 1 75 Alo. 18 oek. 6 w. X2
y) 75 Mo. 18 o, 60 mev.: = -

)

=151 L. VT ogh.
]
8) 3 tov. 200 yk. 150 yo. : 4,5=>3200,150 xk. : 4.6 =695,
(84 ;i mepimov.
Seh. 191—401. —Eivow wgoph. mohlopod’ mohlotéog elvie al 80
doay. nal 70 7. nal mwod]erig 6 10 my. 6o Gotig Emeldn Ed60M

st
=30 A. 7 oeh. 4 mev. o5 .
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—2 5l —

6 3w »
S DEAES ; o e =Sl LOUEV
% GEln toi miyemg toémetar glg 10 M 10 1 OTE EJOUE

: 1
QY TR 3 1 Q f g
80,75 hg_xll)._rr_hhh dp. 6 A T A
R B R L
402, — 0% mohhot ovarfiges dEiovv D de. 20 A X 1by7es 1
o
11 a3
5 1 ;v 920 = -'—-)._'——119 O
408, — 0O SwutpEtn 11'*2‘,— Ln?--Xh—guoﬂ n ( 8 90 m

N\

(1622 )=86 do. 22 1. 57 b

s
gy OV k.

404 —0B0q ‘y(l)QéO'O'UV 320 oxn. 300 SQ.XH:——‘J:-)‘H.; Oxn.
: : - =l
405, - ©d xavdoy 2 T. BOO k. XT=1T-5- Tov.
406.-—"Evrando Houev moofinna peronaewg 1) Jlt);:f”
[ 1 i i i “‘ ..] 0 "‘ s’l”' l . ’l
®ol D yp. xduvovy 197 v0., Gl de 120 n?. tof:t(?\zrut o :
v0. “Qote Goug ool Loger 0 197 gic tov 103680, eic tboag o-
5 i ~ c ' 5] cf
eag & wrioy 120 doyuidg Olatgolvieg EVQLOROLEY 130 dpug

b’ 16" }‘_i@"

9T -
= 3 ~. z : ) 8 any. 3
S0T =1y Bhnig LEOLOUOU’ TOETOMEY TOUS 1 Ve
9 O ¥ .8 92241,75 50.X8
0 R-g- 7. owol Fopev 2241 do. WA lb_sg_ 147

=l 690’.1 ; o
408.—Awx tov o Eumopov ebploxopey Sut gnmoinoey Ty

5 3 i1 Ny \ ' o
By 5,60 dp. : 15 %:3 0. 33 A 61 4 wal Bua tov B Bu

63
r (HE
Endhnoey abdriv 500 do. : 16253 do. 2T A 57

409.—"Etnoey 1869 & 6 p. 14 fin.—1854 ¥m 21 =15
#m 5w, 23 . b
410, —Méver dntow sig ndde doav 8 40" : 24:21"'.‘;’”-
5 & By
411.— 01 2 x. 6 o. Bovor Bdpog Y0 ox. 150 de. X2 =248
Ox. 212-};— do.

‘ A Y N S R e :
412 —(Awpdwréov g 42 dx. 200 do.)—Agob eig DU e

20 fig. R ele 170 Hu. Eodever 42 dx. 200 de. C. &g 1 fufgay
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2y L s

gtodevel 42 ox. 200 Sp. : 170=100 dop. eig 1 pny. Eodeder 100
don. X30=T ox. 200 dp. »ai elg 1 Eroc 2Eodever 7 dx. 200
8p. X 12=90 6éx.

413.—Emedn 6 p. wijyue elvan 1a 0,64 tod aftoov, Emetat
ote wal N T avtol elvar ta 0,64 tiic Tipdic vod 1 péroov #Hrot
23,44 8p.x0,64=1H dpay. meoimov.

414.--AT 108 dx. 150 doup. GEiCovy 88,80 Soar. X 104-=
=9623,70 8p." dore da nlnodon dxéun 9623,70 d0.—6785,80
00.=—=2837,90.

415.— Aot p¢ 14490 L. dyogdler 7 dx. 200 Soopm. pe 1 he-

A i 7 ox. 250 §p.
ntov  dyopdlst ——M———

14490
T 6%, 250 8.X61810_ .0 = oo
15490 —32 oxn. 223 dop.

Zed. 204—415. —Evroiita té mood elvan dvdhoye: #ropev
112,50 8p.X13 = . -
2220 20-XT3 37,50 8p. X 13—487,50 doay.
416.—Ankadn Eav foydlero 15 .46 fju.=21 fu. Ta
845,20 6p.X21

15 L O

xai pd 61870 Aemtd  dyopdCer

Aotmov X=

mood  elvol avdhoyar #Fpopev fmopévog X=
845,25 80.X7
5]
417.— Aol elg 12 p. yoedleton 4928 dx. elc 8 w. yoerdle
428 0x. X8 498 ox. X2

=169,05 dp. X 7=1183,35 dpuy.

o X— - (rd mooix elvan r7v(i?.o'(a):—3—m —
806 v 285 8x. 133 do.

418.—Ta 12 pavd.=1 dwdends’ dote Fxousv 65 dp. X R,h=
552,50 Bg. i X=-2X102

419.—AT 2 x. 150 80.=950 dou.Brai &meidh) 1 mood eTvan
avdloyo Exouev X=-1'—22;<(;J—50=125 d0. X 19=2375 Sgy.

o B 5

; : 55 02.%1252,5
420.—Ta& nood elvar avahoye dote X—
SR S
S TR e e

100
17 3x. 88 8o. -j_
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7 o = 408 1h. 20  408XH
421, —T¢ mood avaloyw tote X= - = —

12 3
136 ¢ H=680 yii. = 3
422 62 . 400 p.=62,4 yh. Ta mood elvar Gvdhoya

& Al e 62,4
@ote X=5 @0. X 55

—12 Goos.
: 5
4237 T moo evor avilotpogo Eouey X=12 npt.)(?

=10 Hju.
7 gy o - 5 18
424 T4 mood glval aviiotpo@u  GTE X—38 gg,x.m«

=b7T goy.
4‘.’:').———é—- 3x.=350 dodu. T& mood elvar dvdloya dote

7 %S
X=27,50 douy. 2-7);)1 50 doay. X —-=388,50 de.

426.—0f 68 mroyol o Ehdupavov 17,50 dp. X 68=1190
2 ’ 3. T - = o

80." A adron Buotpdadnoay gig T0 nrwyels dote Exuotog Tov
tov Blufe 1190 dp. : T0=1T doay.

427 —°H o 1ot ®odwvastastov elvur 22 u. xal 88 sxro-
; s = 22,88 " on &
TOoTR ¥youey hotmtov A=—=1,8 u Ta—:.l.‘} . 20 &x.

428.— T4 mhdrog tod V@doparog xui & dodpog Tov mn{swv
7oV yoetdlovear Su thy Evdupacioy TV 80 avdodrav glva

©

706G dviiorpopa:  Fqopev obto X=234 1—‘(1—7:111-7]334 TN
1 —,1-- 0OV,

429 —Biéne oek. 200 Apgudn.

430.—0 mpdroz 6 Ev  OTOEMMU mhnodver  gdpov 300
8p: : 14=21 8p. 42 hen. ‘,;— & Bt devrepos minodver 195 do

: 7%,-:‘?(5 doay. (ot Pupiregov popohoyeltat 6 dedregos.

Seh. 207. 431.—To 10/, wav 200 de. elvax 2, @y 700 7,
v 450 dp. 4,50, tdv 5O dp. 0,50, t@v 25 do. 0,25, @dv 20
B0. 0,20, tiv 10 dp. 0,10 xal wiic 1. dou. 0,01 <@v 305,7 do.
€van 3,057, thv 428,60 4,286, wdv 16085 uero. 16,085 xai
T®v 34875 dx. 34,875.
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432.—To 2°/, elvor ward oewpav 16 §p., 30 8o., H Soi.,
72 6m, 9,72 A. T. Td 3%/, elvar wata oegdv 24 dp., 4D dp.,
7,5 d0k., 10,8 8x., 14,68 A. T. To 12/, elvar »ard oepiav 96
dp., 180 Bp., 30 dol., 43,2 dx., D832 A. T.

43.‘5.—'1"(:) ‘12*0/0 glvar xata oepav 0,50 §p., 2 do., 2,40 §p.,
6,25 my., 10,93 ax.’Evd to l—;—"/n elva xora ospav 1,50 §p.,
6 dg., 7,20 8g., 18,75 any., 32,79 dx.

434.—Td -/, elvar xavx oeigdv

3)(3_:2 1 S0, 32X 3

< Q RTE N/
=24 Jp. —Q—i-ffﬁ:(),ﬁ(} 8o. 1—2-'—";—‘%:9,43]?5 kip. @y. xal
w’&jl-—4>-<j=8,398 ox. To 88 ."Lg—"/o elval Enlong xard oetgay 11-:1—

80., 120 8¢., 3 Bo., 47,15625 Ao. ay., 40,990 dx.
435.—To 7130/0 glvat xard oeeav 3 do., 3,20 8o., 1,60 5p.,

16,072 0., 24,131 8., th-5-", elvan 68¢., 6,40 do., 3,20 do.,

32,144 6p., 48,262 8p. %ol ta 4! ° , elvar 39 doy., 41,60 doy.,
20,80 dp., 208,936 dg., 313,703 d.
436.—Ta 50°/, elvon nare oepdv, 12 dg., 40 do., 74,50 do.,
129,2 8o., 396,82 dp. Ta 100°/, elvar xatrd oepdv, 24 dp., 80
0., 149 do., 258,4 dp., 793,64 dp. Ta 150/, elvau naza os10ritv,
36 8o., 120 8o., 223,50 do., 387,6 do., 1190,46 So. Ta 1250,
elvaw xard ospdy, 30 dgay., 100 Spay., 186,25 Soay., 323 doy.
992,05 dp.
437.—T0 1%y, elvar xazi oergav 10 8g., 25 5¢., 4,656 dp.
Ol LNy » » 20 8p., H0 dp.. 9,312 §p.
xR » » 25 8¢., 62,5080., 11,64 8p.

438.— Exéodioev 8—%?.—5?8’5(}()———85@.)(785:6230 nal Ty
éndlnoe 78500 8p.46280 8p.—=84780 do.

439.—Eig éva mijgvv »epdiler 60,75 8p.—56,25 8p.=4,50
80. dpol Aowmdv el 56,20 Soax. xepditer 4,50 Sp. eic t6c 100

Bo. xeodiLer: X=4,50 do.X 55 9==8 do. firor 8%/,

WYnopionow}Bnke amé To lvetirouto EknaibeuTikrig MoMTikrg



— HhH —

3
: ; 4 o

440.— Aot dux 1000 dowy. akmodver dogdhoted 2
[emt Rl T

Soay. Fmolme da 225000 Sooy. mAno®VEL EINGING 24 douy.

2%%%9.—761&7?1 doay-
’ 4 E QA
441.—Edv §| Gfa tdv EpmoQEVHATOY fito 100 dowy. Vi

a2 ~ ’ - ’
Enlfpave 3—,1; Soay. G2 acpdhorea, EVe TOOC oV EMAM|OWOEV

i 896 __
896 Soay. ) Gt TOV FUTOQEVRATOV TTO 100 dpax. X 55 =

=25600 doay.- \ :
449.—Tbd #volwov Evdg Erovg fito 2500 Soay. X 12=30000
ot e e S e 2
Soay. ‘Emonévac peoirelon EOg Z—f Spoy. e tag 100 Tro
2 L soar x %0 675 Sgur.
2 o ot X4 575 doul
143.— Eav #z0edoter 100 doay. da Eahfomve HD' Al LoEwW-

b 400000 __ ¢
stet 400000 Spay. doa Ha mhnodon DD de. X =9220000

doaypde. ; :
444, —Enedh gl tac 100 doox. GElay  Enmooeipatog £ln-

Hdin "'7—1— Soay. Eretar Ot Fundoevpa GElag 100 doax. D

R ) c 1 \ € I3 ] v o

T0 EmAet 100——7—; :92—? 8. nol Emopéving 0TI, TO VQATUX
10 Grotoy Exdhnosy dvri 739,95 doay. glyev dElav 100 Spax. X
789, 95

{TQ‘-B-—SF)JI doay.

445.—Eic 100 ox. wxrov Bdpog 1o xadapdy Peog elvar

93% ox. (100 — 4—}) doa £ig 875 dn. mntdv fdooc, 10 xa-
&“5 4

Hagov elvan 95% on. X %2:8‘33 ax. 250 dop.

446.—Edv 1o xadapdv Bdgog firo 96 dx. (100—4), 1o -

b A 2 ’ Y \ 02 - 5
xtov D& fro 100 dx.* tdhoa duwg 10 nadagoy Papog elvar 609 ox.

faaig TR . O S
240 dpu., doa 10 puxtov elvon 100 nx.)(—)—g-b; — 635 o (609

240 ,

O : » 3 2 N 2
Im{. 240 50.-—[)09_50 ()x.:(,OQ—!,;- 3x.=609,6 dx.).
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447.—Edav &oedey 100 dpux. Na Exlpwvey 75 doay.
(100—25), Evd thoa mob Enhiowoey 2625 Soay. dgede 100

8oor. X 225 3500 8gay,

448, -Alu ueoiteloy xal S @dpoy vmnruu]uuw‘ gnhjom-
OEV Ev Ghg 15"/, érouévig #av Bxdiel Ty oixiav gvil 100 do
Va tob anéueivov 85 do. doa thoa mot tob anéuetvoy 327500

doay. v Ead), noev avii 100 Spay. X 2= A0 g 385000 douy.
J

449. — Koy l-/ur]mutnom dhevpov 100 Ox. 9& TOQEGHED -
Cev dotov 123 4x. (1004-23) tiga mod mugeoxsdaoey aotoy
984 ox. &ronoytomoineey dhevov 100 oy XE%RO{) OK.

450.—Af§ 450 da. nope dSilCovy 68,70 §o. X450 =380915 dp.

xai én” adrdy ebolonousy 10 %épdog mods 9°/, Breg elvar 9 dp.

30915
XTOUJ—HZYBZ,JJ dey. rai dua 1 xEodoc awd iy Cdyaony ép-

yaldueda buoing firow dila Caydosme 18 40 §p. X 1250=23000
_5_01()
100
fitow &v G ®éodog 2782,35 Souy. +2875 50.==H657,35 Spay.

"Hdvvdueda fuwe va eloopey 10 dvricroigoly xépdog €ic
Ty Gav Tz g Oxds ol tolito v 1o nol]uw éi Tov dprd-
pov Tiv avewotolyov dxddwv’ offtw Sid o ®épdog thg Caydpemg

18,4
100

00. xai wéodoc moog 12,5°/,=12,5 dpay. X =2871H dpoy.

Va elyouev 12,5 §p. X - =2,30 doax. xui 2,30 8gy. X 1250

==2875 doay.
451.—O1 @dgor tév olxodopdv xai tiv 0dootpmudrtov avép
yovrau el 15,5°/, doa mhnodver &xl tod vowmdov téHv 33000
38000

douy. 15,5 doay. X 1—00—*-5600 doay- AC dogdiiotoa whnod-
500000

veL 2,5 Spay. X S =—=1250 B8pay. “Qore 2v Ghp  mhnpdver

1000
5890 80.4+-1250 doayr.=7140 Soay. “Qore 1o pogohoyntéoy
€lo6dnua wode 4°/y elvar 38000 dpoy —T7140 Speay.—30860
30860

douy” Emoudves mhnodver @doov gloodjuarog 4 Epay. X = 05—
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o

==1234,40 Spay. Gore To xudagdy eloddnua slvon 30680 dpay-
— 1234, 40 Spay.=29625,60 doax.
ek, 213—452. - Koatutdooo ey 1 Sedopéve wad TOV dyvo-
ooV xal wapatyootEy Ot gxaoTov /mmmu iy woamy Ty Eo-
YAT@Y xal TV Hneo®dy w003 10 wéodog elvar dvidhoya.
15 2p. xepdiZ. 12000 douy. goyal. 20 nu.

12 » D > 3h »
2 12 B5) a5 & T Yo
X=12000 bQ.X—j-]_) X 26_..12000 do. X 5 =16300 de.
453. —Katdratie 7 20. foval. 10 @o. yorwdtovar 28 fu. dudk
Vi ve). Bv Eoyov' 49 »  » 8 » X
E Ry T s R
X=28 nu.Xx 19 g =28 (. X == ’X1 5 nu.

(Boydran xal fiubpat mood GvrioTeoqa (g wal af dom made Tag
e
fluéoac.)

454 — M2 12 dx. vijp. rataox. 27 (. nijx. wal 0,7) p. mhdr,

Drealiny. S » e » » 08 S
— 97 n.X16%0,16
TS P
= 19708 31,64 pérpa aepimov (viua

KU pijnog woch avdhioya, nhdroc xui pipog dviioreopa.)
455 —Tay. Pad. b doug diévo. ¢z 12 fp. 420 otdd.
» SEER » S 1200 »

12 f]u.x—g—xr%:? — 210 i,
456, —Tdnng Byov 8 m wixog 4,5 m. 7k a=iCe 350 do.
> » 6.5 » 5 » » e
X—350 do. X 2 X = = 315, 07-= dox.
4.b H

| vo

457.—42 gpy. £oy. 8 Ho. é'E_sr. ele 15 fiu. ta — €oy. VoG

(3]

o

al oot Baydsar - » ¥ S 18 Tt —':'— tob 1. Eoy.-
5 % o
XoSpum X i X"’ 8>(§XXJ mp. =10 moug.

458. —"Avrey.elg 12 fu.2py.10 do. 1800¢eh.&urd 4851.axo 4Hyo.
i » X e fe) 270 » I)U » 48

50 _, 48 B
X=12 fu.X SR z

=i
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459, —TTIAGE &y, 1,207 ux.0,431.78.0,025 x. . va"‘i?—;'—- .

» » 1,70 » 0,656 » 0,018 » 5

e 72% Biix %x%x%ﬁm dx. 82 doau.

460.—0% 700 sto. #ovv cungéoa (ortmeéaiov 1) Teoen 1
fufoac) 700X H0=35000. Ot 8¢ 240 srparidrar of Hmolol E@u-
yov and t qoovgiov cvvamexdunoav 720 cungéown dote ol
Gropetvavieg 700 o1p.—240 o10.=460 oto. Eovaw 35000
o1t.—720 o1t.—=34280 ocuneéoia’ Hote da xaraveroowor 460
sumodoia Ty fipéoay’ 9 Erapxéamot howtovial tpogai dua téoag
fufoag Gous qopdg yweel 6 460 eictov 34280 djrol 34280 : 460
—T4 fiufoar xal da& megroedomar 240 aumgéoa.

ded. 216.—461.—

Katdratic X ; 8oh. xduy. 900 Mg. T.
112 2X 900 Sol

Oray 18 A.F. » 2 "Avyy. Ydore X— ot
xai 25 *Ayy. » 112 dok.  )—448 o).
462, —

Kartdrabie X 8p. otoy. 3000 dn.dp.) dore X—
Srav 135 du.dp.map.EE 100 dx.al. 4,14 % 2251005000

> 180 4x.GA.8(0.ai 225 dwowr.[ 180X135
» 1 dn.olvov GE. 4,14 BJp. =11500 deuy.
463.—
X dp. otoiy. 450 ox. viju.
grav 1 on.ilood.mp. 1,28 yih. ealy
» 1 x!llOY, [i'E_I’.t D oghl. _132%376X%b %1,28%450 __
» 20 osh. xapv. 1 Alo. . 10020 G
» 1 Aip. tudr.375 dooy. =T1280 doamy,
»100 oo tdvEE. 132 do.petd Ta EE.
Te) 223 — 464.— Tonoc——0X% 315 Bo.
il 12690 T8 - ]
465.—10}:0;:-——-—]-%—:087 dp. 03? A
=K 7 3278X4,6 X 15
4()6‘—-Touog:~—-w—-—z184.38 dpay.

467.—Bhéne Go1d. oed. 223,
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185 2. 13 oeh. 4 1. X3X10__185 A. 18 oeh. 4 .

468. —Ténoc= 1560 10
=4 ). 12 geh. 10 mev.
837551200 ;onA

9 —Kepe=——r =407 A
469.—Ke. 9530 4250 dpay

. _1105,50% 36000__no 14 ;
470 —Kep.=— TEXIE —=82160 dpay-

769,16 00 > -

471.—XQ.:M o #rog 2 pav.

9640 6,7H
'.)" :_* ¥
gro ey = AUGEDCHEO0 - ypg Gy,

75300 x 12
T Ol (U R
4783 —Brv.= 00X8 8 — | 5 £

Snu. Ofovddnote xeqp. moos 8"/, Simdaowdleron € 12—2—811}.

- Ll "‘ i 0
474.— Lmr'__'———_H_E)COUXEE =Gl

S 1120%100 _ 1120100X3__ o 1,
475, —Enu.= Seoi0 23 v

96003 }3,—

476.-’Em.:‘%3‘;070":8,25° b

477.—B)éne aowd, ogh, 224

478.—Bléne Gotd). oed. 224.

20XT¥6 __
12000 =

=0,7 douyx. dote § tun 1ol mMixewc=20 Souyx.+0,7 dooy.=

=20,70 Spay.

480,— Affla ofvov 6,25 dpax. XHH00=343T75 deuy. Eleé-
noake G0 1O Gtog 3,5 doux. X 1250=4375. "Endincev olvov
5500 dx.—(150 3x. 1230 dx.)=5300 dx.— 1400 dx.=4100 &x.
mdg 8,40 Soay. xai eloénpatev 8,40 Spay. X 4100==34440 do.
“Qote elobnoatev v Shg 34440 dooy.+4375 deay.=38815 do.
dga Exéodoev 38815 doay.—34375 douy.==4440 doay. “Aga

B 440X 1200__ !
B shatoxs oL e

481.—Bléne aoud. oed. 224.
482.—BMéne doud. oeh. 225.

479. —Ténog tév 20 douy. el 6 u. meog 7'/ =
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483. —0Oa elowusy modrov mdoov otolgiler §j 1 oxd Hrow
1,28 yihidyo. edoloxousy 8¢ Su n aflo widg dxdg=>H,60 douy.
X1,28=7,168 doay. Ak d¢ v wdhInow Aéyouev,

Gpod Enumdo. atiag 100 Sooy. mwisirar 109 doay.
» » 7,163 » X

X=109 3@&7_.)(%%

484.- —-Edoioxousv mpdrov td xeq. to §roiov o lduevov
7o 6 /, pfoel térov xurd uiivee 175 dpayude: elvar 88
. 125X 1200

61

=7,81... dpay.

=25000. To xepdloov 8¢ rofito mode 1.5%, @é-

25000 7,61

E Eror ;
1900 =156,25 dooy,

08l £lg Eva pijva térov=—

e - S e s 3 3w ” e
485. —"Agoi & dopdhioron frav 5w rat £rog fjroe 0,75

nat” €rog, Bav 1O woody S 1O Grotov Od Nnogdhlev thy olxiay
qto 1000 Sowy. S 4 Foy da Enljowve 0,75 Spay. X4=3 8o.
gav 1 olxia Nopadilero S 1000 douy. AN ExMowoev dogd-
hotoa 105 douy. did 4 Fn Erous: we 1 olxla Nogaliodn did
téoag  yhddag, Boug gopde ymosi & 3 fig tov 105 Hrou
105 : 3=385000 dpayude.

486. — Evoloxousv tdv térov tév 100 Spay. eic 2 £tn xal 6
uiv. wpog 9°/, eivan 88 T:P;;0 =22,60 dpay. “Qote af 100
dooy. nere 2 gt wal 6 pijvag yivoveae perd tod téxov tov 122,50
doay.” Emouévig mhom Soy. werd tov adrov yodvov yivovra 1500
do." xal elploxouey X:IOO 6@.)(-112:;%

487.—Eis ta 100 éxaroupdora Exparidnoay 11/, éxarop.
@ote moayuatrde Edaveiodn mooz 13 °/, meoimov.

Zeh. 229—488. - Oa elpouey tov térov tiig dvop. atlac

: : e 2 s B R 4200 8,5X50
200 & c 8.5%/ Exl 5 e =2 A
4200 & uy. wodg 8,6"/, &xi BO fip. Fjrol L. H.- 36000

=1224,49 Spay.

BRI

= ~ =4958 dpayual.

. S . 25 bX7,5__, 2
439. — I Ewreownd Vipalpeoic En'(:l:!——f-o—ql)_gog—x =340 62
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D

12500 1,5
100
108 éxparidnoav 390,62 Bdpay.4-187,5 doay.=5H78,12 douy.
etoénpatev doa 12500 doay. — HT8,12 dpay.=—=11921,38 dpay.

B ™ : 173,5() x (\(!000 3173, N‘XIUO o
90.—"0w. 3 = = ;
490.—"0v. dt.= o 19334 o¢

491.—'H &t dpaloeoig eivon 3781, 20 Soay.—3720.75 do.
60,50 % 36000
3871 258 — 2 ée: B

doayx.” f & mpopndaia elvar=— = 187,5 Spuy. tote

=60,00 Spay. "Lropev dou Hp—-_=2
v, xal 12 fuée.
492.—H €. dgaipeoic eivar 27675 bgrtx —27416,70 Spay.

=258,30 dpay. Meoorabolol & ano 1g "Ampiliiov péyo
~ a0 “ SiA e o 5 258,30 36001
il 28ng Matov H6 fipéoar. “Qote Fpousv E= _—3‘)-75?_?(7\—;5—0—

2 an)
— G
A () 2 ~ € A © s . ~ ’ B i
493.—"Aq@ob at 100 Spay. ylvoviar perd tod téxov adidv
112 doay. (uera 2 & mpdg 6°/,) méour douymal yivovraw perd

= 3 ac o 7 56 -
0V To%0V avt®@v HG0 dp. ; Etoloxopey 82 I\:ﬁoﬁ;{;'—]o— — B0
dpay. nai T=H60 Spay.—H00 douy.=60 dpay.
494. —Evoioxopev todtov tov .téxov tdv 100 douy. modg
i g < N Sy 100<6,76 160 i
5 D ‘ Ciely s T— St —
6,70 %/, &xi D pAv. 10 fp. elvon ds T 36000 i
doayual. “Qote dv yoappudridv t mpoeoplreito moo H 1. 10
AR. 1oz 6,75% , dvti 97 Spay. (100—3) da elyev dv 4t 100
Spayudv' doa TO youpudtiov ol VO TOUg oUTOVE GQOVE TOOE-
1006596
97

EopMdn avti 6596 Sgay. Do Eyy dv. .= = 6300 do.
("Ide modPAnua Spotov oek &oud. 227).
495, —0a ebowuey modrov Tov térov t@v 100 dpayudv S
100 6X 70
36000

. 1 L or - A ~
=— dpayual = 1—6- dpay. "Qare Srov £m e wetd 2 uivoe

2 p.oxat 10 A § 70 fip. mode 6/, elvar 8¢ ovtog

: iz 1 s . ,
xai 10 fu. 101—6—— doay. (100 -1/,) xai mgoekophioy ajpeoov
10 yoapududy tov 9 Addy pivov 100 douyuae xal dc whn-

omor 1*6— doayude” Srav Gpwz ¥y va AdPp uperd 2 p. 10 THi.
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- \ s ’ 1 T 1 :
110 dooypag & mhnooon l-fx—-‘—w—zw — 8,18
6 1 6607
101—-
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tov; dhhovg toiyouvc.

3)—Towaiitan dxpal gl 1ov xifov Umdpyovy elg T0c Grévavet
Eoag, dv T pia xdmrel Tig wEOg THY dAANY mapahhijhovg axuds,

4)—"Ac trodéowpey Gt ?/, tiig dodiic elvar 1 yvovia B (oy.

31)" tvére i a 1 Omola elvan ragaminompatiey tig B (o - f=
2

2 dpdal) elvar 4/, g dpdilg (—(:;—_-—;i-—.-tk) @ote f=0=L=—1
—/, tiic dodiic (omu. oeh. 19) xai a=y=e=n="1/, i
oofic.

Seh. 21-- 1)—12 diédoovs xal 8 toiEdpovg.

2)—4 ditdpovs.

3)—ITgoodéropsy 8o diEdpove yaniag édv Héowuev iy plav
xlnoiov Tiig dAng, oltwg Hote v supmécmoty ef dxpol xai Hio
Epon abedy, v of dilar 8o Edow vi ebplonwvral €ls S
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— 73 —

‘@opeTid péon tie xowviie téte ddooisua avrdy eivar N diedoos
yovie mod oynuariletan dnd tds drpag Edpug {af drolam tekewd-
Vouy eig TV xowvly dgujv).

A Ty dragooiy S0 BiEdowv yovidy, tpaondlonev Tis
s Ty wal plav 88pav  tig widg nd plav Edpav Tz dhhng
AW devrépn €8pa tiic nwmpotéoug diédpov va méoy Evrog T
ueyehvtéous téte 8¢ § Medoog ymvie mod oy uexilovy al ded
teoan #doa {mob Sdv cvvémsomy), rivan T dagogd altiv,

¥ed. 24 —2)—H topt) ddo rolymv dwopariov givar wdderog

Eml 10 adroua.

3)—H voopic H w0 nolefdoxdvdvlov elvar mhayla e moeos
T terpudiov, Grav yodpouey.

4)-—"H toun iic doopilc wal Evoz toixov sivar muodhlnhog
TpOg TO TATONA.

H)—AT dpad tdv oGy tod xiBov al drolur elvar Eumods
Drlow, debid wal « owotepd elvan xddetor mEog TV wdre  Edpav
adrov, kot waodhahot 7pog atthv elven al dupal iz dvo Eoog
Ton 'fou.

Bed. 20—1)—Of toiyot évog dwpariov Fovor dievduvory wa-
TaROGOU POV,

2)—-Al dxuai vilg dpopiis rai 1ol mardparos dwpariov elvat
SplGvrian, Bv@ al dhhar elvo “xatardougot.

3)—"Orav xofuatar iz v 1oifov #LeL xavaxdougoy diediivy-
o xoi whoyloy Grav omoileran éxl ol toimodos.

4)— Of mh/xol otilo E;(m:m_ﬁleﬁ{)vvnw RATAROQUPOY,  Hal
T Tnh/xd ovouata Gpildviiov

B) - Al ordyal tdv obadv Froval Sieddvvey mhayiay, @g
xai af mhevpal axdons.

Zed. 28) — 1 xai 2 Bhéne IMp. [eow.

ek, 29) — “Oaloveiav.

2)—Al @ Edpan vt ol ERhat dxual thg nveaundo; Excv
oW Ex vével mhayiay dietduvory dno bF r’r‘:; #8pas U\'I’.!Ef‘l.; rol 1dg
‘Anudg, povoy Hlo Edgui wad pia dwpd) dlvavial va gL ROTO-
x16pupo,

ek 34)— 1 — Al 800 8T yovia Tob 809, Ty vov Egov-
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5 - S i, = .
ow dfoooua 1 dpdiv 1 -5 i dodic dool howmdy #i ula v
P s ey ¥ | B e
adrdg elvee =y 0 dAhn eivar ——tiig Goiliic.

(5 o

9)— “Ohut af yoviot 1ol torydvou ZFyovaw ddgotopo 2 6. 9
Pl ol vl aehiody SRy 5
- TS dodfic.: Gore wi &va dMat  yoviar £xovew fvpolop
14 6
7 ki
L3 , Sy ~ -~ - ’ © 'r}.-
elvar yoviat , anévavre tdv Towv mhevgov 100 Tptyivon) Ty rave

®

=i Hodiic wol Emedh elvan Yoo peratd rov (Siote

: . 4NV o
pla @n® adrdg elval = ¥ apd1;.

¢ o ey ety = TOS R
3)— At 8o pald {om yovia ggovv ddoorona—g- e op7g

Ial

43 ! [ ’ - ’ 2 a0 16 ~
wal Beldn of 3 yoviar 1ob TOLYOVYOU EXOVV ddgoopa & T
s

3 e o o , ~ i 16 10 Ean
3097, Breran Su i yovia tiig xoeuepiic glvat g — o ="g" 7"
tij opdiic.

4)— Eiz t lodmhevgov toiywvov yvipilopsy, Ot ol 3 yo-

viaw elvan Toon xal dgod ai 3 pold xduvovy 2 dodde, fi 1 xduver

PR o
— i apdiic.

] - ’ ’ -'3 ~ a ~ € 8 k|
b)— "Agol i uia yovia eivm-sf e 6pdfic, 1 dhhn elvad

A -~ 3 ~ 1) 1 ~ k] -~ a € ’ L) Y.
i & g dpdiic : 3 Nrou i dodfic, Hirou ai dvo polv rduvouvy

8
3 4 1 - 2 ~ . < k ’ ’ L ] a
o 1) = g dpdiig” wote fi tolin yovia gival 2 0p.

g 2
1

9
0| =

o

15
5790 = 1—2—09.
. p EE N 14 ) Boyies: Qe
6)— ‘H rolrn yovia glvai——-== 5 WIS dovfc.

7)— “Otav mpoextai oty af whevoal To ToLYdVOL oxnpati-
Lovratr, meol xdde wopu@ily Tod ToLydvoy 4 yovial, o Tag
Srolog 9o elvan Ewreomeal, uia Eowrepixd) yovio xal 1) dAin
natd wopu@nyv aduiig xail 10 ddgoiona v 4 adrov elvar 4 dp-

. ’ 7 b1 e r c c - g
dai yovion. Eyopev hotwov 12 &v 8hw yoviag]al dmolal Exovowy
ddootopa 12 Hpddv. ALY #x 10V 12 yowdv of 3, al EowTeQu-
wol yovial zai of 3, al %ot xopU@RY «btdv Exovowy ddpoiopa

W £ QTG E :
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4 dpddv: GHote al dhha 6 vovio Fovay ddoolana 12 dp.— 4
= fl@.

Seh 39—1) — "Av & péon tiy mhevpdv 1OV dopJoywviov
ABTA sivan nore oewpdv  ta B, 7, H, 0, 1d telymova AGE,
ERZ, ZI'H, HAO &lva loa node dMmha, didtt wadevée, T UEV
wie zdderog mheved elvat 6 fuon Tig mds wheveds tot opdo-
yoviov (AB), § 8 ik wéderog mheved, T fiptov g wheVoais
100 Opdoymviov Tiic wodérov modg Y xodtnv (AA) dore #yo-
uev EZ = ZH = HO — OF- of 8 avupwval ahevpol TOU TE-
toamhevpoy elvar mapdiinhor St Gy épmpey TRV day@vioy
EH, afity dapel 10 tetgdmhevooy £iz Hvo Tolyova toooushil #al
You te OEH xai EHZ (yv. lov oeh 3h) Enouévarg al neol TV
wowny Pdoww EH yovin Sva Toor @hka Do eddelal (g al O
wol HZ 7 of OH nal EZ, ainveg deav womroviar o toling
aymurartiCovy o dEelag yoviag toog ®.T.A. slvan maodhinlor (id.
B. oeh. 19) "Hro: 10 1eTpdmhenpov EZHO sivar goppoc.

. \ A R 3 , 3 =
9)— ‘H dmévavr mpog Ty Sodeioay yoviav gvar —- TS

dodiie (8. 41, B) nai ai dvo paly elven —(:; thig Opdng Al al

Iw

4 yovio 1ol magh/uov elvon 4 dodai H d0." doa ol dhlo

5
R0, bl SN R ; .
2 slvm-—,,—ﬂ—;—r,;-n@.,xm wdde plo TV ToOv TOVTOY YOVIOV

elvau -ET do9Nc

3)— TeaxtCov, it poévov dlo amévavit mhevpol  o0Tod
elva wapdhdnhot.

Seh, 41— 1) Adne 1 tolywve ABT xai ABI (oy. 75. ne.1.)
fovy Ty BI xowiy vy AB = A G¢ dmévavne mhevoal nat
wiv AL = BA &g pag #368° dou elvar Toa (lov yv. oeh. 35).
Kai énopévorg yov. B = yov. I" aa yov. B = yov. A xal
yov. I' = yov. A (oeh. 40 mo. I')). "Hrou nai al 4 yovia Tod
naph/pov avtod elva Toa wol Emeldn EBrovowy ddgowona 4 dotdg,
gretar dr wdde uia ioolta ut piav 39Ny dmh. 1o nagak/uov
tovto evat dOpdoydviov.

2)— Abu it roiyova AAK ol AKT (ox. 76) elvar Toa

i : : gy ’
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gnedn AK zowvt, AK = KI' zal af zeol 10 K yovia opthd,
doa AA = AT, @M AA = BI' xui AT = AB #iroo AB = BI'
= DA — AA

3)— Awbn 1 duaydviog AT (oz. T3) oymuariler ta tou 10i-
vova ABI' xai AAT, diéue AT xowi, AB=AI' xai AA =
Bl &g 8869m dhhd téte yov, & == yov. { zoal Eropéviog ai AB
xal TA elvar nopdhnror (0. B oeh. 19) xal yov. n=yov. ¥’
doa nal al AA wal BT sivan mapdiinhor.

4)— Elc o terpdadevoov ABI'A (oy. 65) diderar yov. A
= yov. I xoi yov. A =vyov. B' @ld yov. A 4 ymv. B+
yov. I' 4+ yov. A = yov. » 4 yov. B4 yov. A 4-yov. B =
4 Bp. Hjrow 2 yov. A - 2 yov. B =4 6o, xal yov. A -+ yov,
B = 2 dodal. "AM «f yoview A zal B oynuariCovrar amod Tog
shevods AA »al BID ai 6rolan zédmrovia Yo the AB® Emedn
5t div slvan af yovia aftan B@etiic zul Frovow ddgoiopa 2 do-
Qav, ai evdeie AA woi BU elvan magdidnhor dpoimg etploxe
v yov. A - yov A = 2 do.
dou al AL xai AB elvan wapdilnho fitor 10 terpdmhevpov AB
T'A glvat rapalknAdypannov.

5) Eig 10 roanéliov dv A =D 7 AAT = BI'A 8a tivar
AA =TB’ di6nt v mposxteivo-
nev tag pi moochMilovg mhevoag
avtot puéyolg Otou ouvavindolv
B gic 0 E, oynuatiCerar 10 {oo:

A“' : v oxehts tolywvov EAB- 816t dv

3097 A =B slvar guvepdv 8t

glvan oooxshée v 8¢ Sodq AATL

A/ 8 =BI'A «i naporhyomiarixal

tov foov atrdv, EAT xai ET'A

eivin  foay, dpa sival (oar  pe-

10 tov wai of A xai B, 8:6n ai AB xai AI' elvar mavdd-

Imhor 3% tdv dvotfow Bt @alverar Gt xwl td tpiywvov EAT

elvan Too-vekée dv 8¢ dnd tag toag nhevoag EA nal EB dgaipe-

90w of toar BA xai EL pévouvy af o AA xal I'B fjrov 0
toanéliov tobn elval looouekés.

Seh. 43 — 1 — “Eye 6 orepeds, 10 diédoovg xal 10 dnuds.
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2) — 12 diéSpovg wad T otegeds.

3) — Tiv tetgurhevoudiv iz 2, v aEVIayon v elg 3 Ao
iy FEayovieny eig 4.

4) — BX mp. T.

Teh. 45 — 1) — 28— 1=16-—-4=12 Joddc.

2) — 2%10—4=—=20—4=16 dodac.

3) — 2X16—4=32—4=28 dodde.
4) — Aol 10 digoiopa elvar 14 Bpd., Emeran Huu dv @xd

ulay woovgy 1ol (yrovpévor  woAvy@vou péompey  Ohag Tag
Stayaviove tov, da oynuaticddow T tolymvar xai Emetdn yvo-
oiCmpey, St pd tov Todmov adrév, oynuaritovrar 2 rolymva Ohi--
ydreon, ano tov GowWuodv tdV Thevo®y, Enetal Ot 16 xokiywvov
tobto Eget T4-2=9 mh.

By — Qg mpomyovpévems evnioxopey O Eyer (12:2) 2=
6428 mhevods.

6) — Al D yoviat 100 xeviaydvoy Frovoy Gdootopa 2XD

5 - . . EES
—4—10—4=—06 dodds dou | By yovia elvar 6 0p. —D—- 0.
1
=— dpdie.
)7-— Td ddootopa tév 7 yov. 100 EXTAYOVOY glvan 2 X T

—4=—10 dp." Gare 10 ddgoiopa tdHy dhhov 3 YOVIDY TOU ELVUL
10 dg.-— 6 09 = 4 dod.
Seh. 53 — 1) — ‘H yovia duxkacudlerar tounhactaleta xih.
9) — Mia 6090 &yyeyoapnédwn yovie Bulve e 10 fjuoy Th3
meotpepetac. ( § 72)
3)=—Pr. §'78
9

4) — Aot §| Eyyeyoappivy yovia elvat L)- i 6odic 1) dv-

LT e S

tlotoygos Enlxevigog elvan —- tiic Oolifle” ahda 10 téEuv mOU [3(11-
b

R 2 0 = ekt b 3

ver 1 Goin énlnevipog yovia ) — - EWVGL TO —— TilS TEQLPEQELGS

-

[<4)

==

Rl e 2 4 ~ é =

Enopéviog 1) exlxevicoe yovio, Hre elve 1a =5 vig oodiic 1 4
S

5 oy « ; : L e A o

Gvriotouos Eyyeyoopmevy i (v & - tiis Opdiic Paiver #:

ol 30
TO—2- 15 megupepeiac.
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4 e - , = SR L [
5) — ‘H avrioroyog exixevreos N Sroto Patver Elg 10 — NS
g

4 . o b o Bl A firgs . ‘ T
sepupeoeing Llvat 10-5-TNS dodiig doo ) EYYEYQUUUEVT fltig elve

| =i 5 1 5 ) * N D

TO5- TS GvTicToiyov Fmkévigoy TerTng Eval 10 4---111;1)981”@.
Fel. 93—1)—"AvricrouEt £lc TOV gty WE uﬁ;{ngmo T
4

7. 15!
2) — Elc 10 £dapog Gvtiotougel we 400k % 5000 = 200000 2.

3 200 pgrou

o néTpov.

43

3) — To ndv ufirog da ¥yel gl TOv 240U 5550 T 24 ik

0% nézpov. 10 OF rr}-,titng—g_(l—lgﬁ_—:’?‘ , koot avtot.

ek 108) — 1) — To 2uPaddy tod olromédov glvan TX 16
—112 tero. TEXT. TNYELC.

2) — T Hudoooua iy Do paosov tol roaneiiov elvat
193102326 9835 6 : 2=177,8u. “Ogte 10 euPaddv ab-
tob elvar 177,8X85=15113 teve: péroa 0 19 Bagth. oroéuparo
wol 113 terp. wérpa.

3y— To Bopdrtov ELEL 2iPuddv HX3=1D tete. wérou® xade
5t covig Egev Epfadov 9 5% 0,8=2 tet0. wétou dou Goug (o-
oz ywpel 6 2 €ls v 1, téoag cavidug da yoeLacitdpey, ot
74145 oov. ;

4)— ‘H ok Exe FuPodov 18%¢7,2=129,6 tero. péroa’
Zuciorn OF TETOUYWVOLY ahOE Byl Bupodov 0.25%0,25=0,0625
tof tet0. pérgov. “Qote da LoeLa oD OUEV mhdnag 129,6 : 0,0625
—2073.6 nh. §i 2074 '

5)— To olxdmedov elyey Eifadov 18,3¢ 12=219,6 teQ. TEKT.
mijyeg wel ol Ghot girol exwiidnoay avti 256000 dox., o 1
Erohidn dvri 25000 219,6=113,24 dox.

) — Td ywodgLov oy fUaTog TETOUYMVOL ELYEY gupadov 18
X 18=324 teto. uérod. ‘I mepluergog 10D dodoywviov firo
180, }4=T2u." firor i fwmeolpergog 720 2—=36p, dnh. 10
uinos wul 1o shdros tov dodoywviov' AN depod Td whdtog NTo

yd b o~ -~ -~ .
10 nétoa, o pivoz fHro 26 . #Hrov T Bufadov adrob mro 26X
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e

10 =260 tero.péroa. “Qore §f dvrahham Sty Eyewve duulmg %ot
Emuddy 6 huPiy to doloydviov ware 324 . p.—200v. .=
64 tero. pérpo. :

7)—To Bufuddv toi Mfadlov adrel eival 1855 TR : 2=T21D
tetp. péte. 1) foo. orpépuuta Aongi 2l hx iuil:

8)—"Ohog 6 uimog Exe Epfadov 2 H ¥ 14,8=2170 retg. péroa’
6 &1z dobupog Fxer pijros 25u. nal mhdroc 1u. frot Bufabov 25
terp. wévow, &v@ O dhhog #zet uirog 14,50 woi mhdrog Lp. fivor
EuBudoy 14,8 1eto. 1émcx' Gote t0 FuPadov thv Do deduwv
evar 25T u. 4 148 rop. — Lz p =388 1. {GpuipoT ey
to 1 1.1, 10U ®01voU tg!)u?&(n'l the Swasrouvodoswe, OL0TL Vet ho-
yioty B8ic). dote vi 4 loa négy wov wimon  Egovewy Fupadov
370 1. u.— 38,8 T. it = 331,2 r. u.’ floa 10 | uéeos Fyer duPo-
Sov. 331.2w. u. : 4=82,8 rero. pérpu.

) () toigos Fe fuPuddy 12X8=96 t. u. 1 de diow
1,2%3=36 1. u. @ore Eowpatiadyouy 96 . (o bt ==
92 4 1, n. oo 16 gowudasua tol toizou 2grolywoe 7,00 dogz. X
92,4—693 dox.

10) — *Amorehetrat dxo 19,2X5H3=1113,6 vexn. uérow.

Beh, 112 — 1)— To éuBadov 1o reroaydvon  thg DmoTeL-
votiomg elval 824 62=54+4-36=100 terp. péroa (§1H6) don TO
pijkoz i dmotewvoveng elvan 100 = 10 wérpu.

2)— To tevp. 115 Unotelvovong #yer Eufuddv 15°=225 t. 1.
Gk 10 avto fuPadoy y;{guv 7ol T ddo TETD. 6“0[; oy dhhoy
mhevody, wet EmEdN adcon slven o, 10 teco. wdide wds dmo
Tig nudérovg mhevgig Fxer fuPuddy 112,56 1. p. dote xdde plu
xidilerog whevod X8 Wikog (112,56 = 10,6 meplrov uérga.

3) — To Vpog 100 looonehols roiydvor yvmpilopev, St %6-
mre ele dvo tou wéon iy Pdow tov xal o oy 10 ToiyovOV
(§ 46 oeh. 32). “Qore &va and td dpdoydvia tolyava &g ¢
Srolo Stanpeiton o Loooxehic tofymvoy dmd td thpos tov, Exe
Srotelvovoay (10 £v oxfhos) b pérpwy wal plav xdietov mhevoiy
4 w. (o fov tiiz Pdoew:). ARG dv Gro TO TErQdYmVOY Tz
Drotevovions dpaofomuey T tETodyOYOY Tiig YVOGTI waitéTou
xhevpds, Oa slpwuev 1o tetodymvov Ths dlng nudérou, Onh.
tob thpovg Eyouey hotmdy 25 —16=9. dote 1O Vpog ExeL Wijros
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J 9 == 3 péroa. Edgedévrog tob Hyovs evolonstan tdoa 10 fa-
Pasov 10D dollévrog icooxehais tolydvey, 10 Gmolov  elval
8X3 s .
>‘<T =12 1e1Q, nérog

4) — Al duydvior 10D dodoyaviov yvwpilopev St elvar Tom
(15. 5.oeh. 41) pia 8t Sraydvioz 100 dpdoymviov diagel adto elg
S0 dotloydvia toiywva, Eovia hroteivovaay Ty dtaydviov, sival

8¢ afitn. Ton né i1 8 = (196464 =260 = 16,1 péroa,
5)—T0o piixo; tilg vhipunog slval 100437 == v109 ==10,44u.

Soh 116—1)—T0 wiog tiis meoupegelng 100 teoyod 1ilg
Gudsng elvan 2 X 0,45 X 3,1416 = 2.82735 1. Emopévog Ghov
o Stavuldy Sudompa elvar 2,82735 X 128 =361,9 pétoa.

2)— a) ‘H dxric eivan (§ 160) 40000000 : 6,283 = 63663%3H
nepiwov uérga. P) Kdde GHoav Saroéger 40000000 @ 24 = 166
6666 ufroe weolmov nal v) ‘Oid.Anooc N meotpéonia Eger 360 X
G0 = 21600 modra hextd” doa 10 uixog 1 wpdrov Aeatol TG
wolpag elvar 40000000 : 921600 = 1852 pétoa meplmov.

3) —— ‘H Budpergos elvat TO CLthdowov Tz dxrivos MTon

15 X 2 15 ~ ;
: A T HEROD.
285 — 3,1416 b
‘ < sy T 8 g 1561 388\ a ;
; < N Bl GtV — | o @ N EmiQa
4) — “H Sefapsv E41 @TVE Foaw {9 ®OTE ) ERLQH
- 15 \* 35,1415 % 152 15
mies b 9 141 i L2 —
veudizn; Elvordadin ) ( 6,253 ) 3 X 3,1416° T4 X 3,141b

— 17,9 zeto. w. meolmow,

5) %l 6) Bi. mo. eon.

Sk 119 — 1) — "Eyet dyxov 12 X 0,75 X 3=21 wvf), pé-
Toa dibre 6 tolgos Egs oyfine dofor. megulnhemumédon.

2) — I et
vorg 15 X 4 X 6,0 390 P, péroo.

Yeh 193 — 1)— To 2ufalov thg Pdocog glvan (0,4D) =
0,2025 1. 1. @are 6 8ywoc elver  (0,45)° X 0,86 = 0,2025 X
0,86 = 0,17415 wup. péroa. :

9) — Bk, mo. I'econ.

Sel, 195 — 1) — To 2upaddy tiig fdo-w3 BLYRI DI G et
7.5 1. . Gote & Jynos aviig eva 7.5 X 6.5 ¢ 3 = 16,25 xuf.

pérou.

¥ J b o Sibe
afion Eew oxine 8)8. waok dovt YWOEL Exops-

YnoiomoBrke amé 1o ivotirouto EknaibeuTikig MoAmkrg



S

2) — BL mp. Teop.

3) — To ywvdnevov tod 8uf. tig Pdoswg éal 10 ipog  Wids
muparidog elvar to 3xhdotoy tob dyrou tng firor 40 X v=1200
X 3= 38600 doa 1d thpog elvar 3600 : 40 = 90 uéroa.

4) — Opoids ds dvo #xonev Eup. Bdo. X 30 — 2400 xai
EuB. Bdo. =2400: 30 = 80 t. p.

Zeh. 127 —1)—H dnris tilg Pdoewg eiven 0,2 p. 1 2=0,1n.
10 dufadov abdrfic elvar 3,1415 X (0,1)° = 3,1415 X 0,01 =
0,031415 not 6 Gyxog avide eiven 0,031415 X 10=0,31415
®op. uérou.

2) — To wiixog tils neovpeoeiag tis Pdoswg tlven 2 X 3,1415
X 0,6=23,7698, t0 8¢ &uPuddv tiic wvorig Emwpavelug elva
3,7698 X 4==15,0792 tetp. p. ol Exouévng O LOWUATLOUGE TOV
9a oroyion 880. X 15,0792 = 45,2376 doy. 1 45,24

3) ‘O owlny avro; elvon xohwvdoxdy Eropev  Aowov piixog
meowpepetog Pdosms 0,3 X 3,1415=0,94245 nérp @ore épf.
woptie Bnpavelas Bdosmg 10 X 0,9424H = 9,4245 erp” pérpa.

4)— To 2ubadov tiic Pdocwg 3,141 X (0,5) == 3,1415 X
0,25 &xedn 8¢ 3,1415% 0,20 Xv=3,1415, Exeva vt v=3,14
15: 3,1415%0,25 = 1: 0,25 == 100 : 20 = 4 uévoa.

5) — "Epp. fdo. XD == 80 wuP. w. dote &uf. Pdo.==80:5H
= 10T L.

Seh, 181 — 1) — ‘H meowpéoew viig fdoswe elvan 3X3,1415
=2 0,4245 p. ot 10 fjuov avrig elvan 9,4245 2 = 4,71225 p.
Gote 10 fufuddv tiig wiptig Empuvelas Tol xdvoy eivar 4,71225
Xbh = 23,6125 tevg. pévpa.

2) — To 2upadov tiig xvptiic Emvpavelug tis rwvixils oxnviig
elvan 815 =120 1evo. pérou, o 6rolov da elvan nal Eufadov
100 tpdopatog mov U yonoipomooopey: dnk. da givar 0,8X
Wixos = 120 1. w. Gote t pijrog tod dpdoparog eivar 120 : 0,8
= 150 péroua.

3) ~ ‘M dxrig tiic Pdoewe elvar 31,415 : 6,283 =5 n. 6 tv-
o3 g edpfoeme 1ol dyrov tod rdvou elvar (§ 183) ‘;;—XJTX «?

= i S « . ’
XV firor 33,1415 X5 X8 = (28,3 : 3 = 209,43 vetp. pé-
T TEQLITOU.
Avoeig "Agudp. xol Newp, Xarliddan 6
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4)— Td Gypog t0b whvou #mi 1o 2uPaddv thg Pdoews €LV
ToLrAdotoy 1ol Gyxov TOU’ Eyopev howdv vX8 = 90 doo npog
— 90 : 8 = 11,25 péroo.

5) — To Eufadov tiig ®uptilc Emipaveiag wohovpou ®OVOL di-
Sevan ond 1ob winov wX X (a4-p) firol 31415 X3 X (b+2) =
31415 X3 X7 = 65,971H wero. néTQa.

6) — ‘M durig g dvo Pdoeog elvar 6,283 ¢ 6 2ggi ]
e 1 3

) 88 thg wdiw Pdosmg clvar 9,4925 1 6,283 = 1lo-—=—5 WETQ.

D

Sy 5 1 d
6 tonog ToU OyRou TOV xohovgov rdvov elvar: —- XXV vk
(3]

B axp) B 5 X3,1415X4X P2 ) X )= 3 %

31415 X4 X (1 f 4 ) = X3 1415 XX e
X 19= 19,8061 wp. pérpa meplmou.

Seh 136 1) — To #up. tiig émpavelag widg apuipug didETUL
10 tov Tomov” 4 XaxXa i 43,1415 X 20° — 43,1415 X400
—- 1600% 3,1415 = 5026,4 ver. .

9, 8, 4 »ui 5) — Bh mo. [eou.

velk 138 — 1) — BL. dox. 1 oeh. 119 xal 2) — Bh, don. 2
oeh. 119.

3)— Bl dox. 1 ek 127 xai 4) — B no. Teon.

6) — "Oyrog pogekiov 0,262¢(A*4-0*) XM firol Oy. Bap. ==

0,262 (0,7 +0,6%) X~ = 0,262 X (049 +0,36) X 8 =
0,131 X 0,85 X5 = 0,33405 xuf. .

ALKHZEIZ [MAPAPTHMATOZ

Seh. 189, —1.—Eig tov eoupov ABTA, (oy. oeh.83) ul el
Gy mobnetten Ao TAOES elvat of nddetor AE xal T'Z: dhda ta
tolyova ABE zui I'BZ #ovv vy AB=BT', tiv yov. B HOWNV
wot Ereldi elvar dpBoydvia Eovy xad yov. BAE ==ywov. BL'Z ('Id.
4 oeh. 34) doa elvan Toa (yv. 3 geh. 3B) dpa elvar AE=I'Z.

9. —And 1iic %0pUQAS TOV TQIYWVOV ABI qéoouey thv AAE
ragdhhnlov mdg thv B, wiv ABZ maodMnhov moog thv AT
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xol thy ZI'E magdMniov modg thv AB. "Adia 10 reTodmhevpoy
AATB elvar magahinhdypappov doa AI'=AB xai AA=—=B1
Suolwc xui to ABZIY, dpu AI'=BZ sol AB=ZT, 6uolwg =al
10 ABICE' dga AB=IE xai BI'=AE fjrol

AT=AB xai AT'=BZ f#iro. AZ=AB-}-BZ=2AT
Br=AA xoi BI'=AE #tot AE=AA+AE-=2BI"
AB=ZI" xai AB=TE fjtor ZE=ZI'4-I'E=2AB.
firor xdde nhevod tod véou toydvov ZAE elvon Surdooio dmd
v ragdhnhdy g 1ol mpdrov TOLYMOVOU.
“On 88 © tolyovov AEZ elvar 4xhdotov ot ABI gaiverm
2« tiic lodtnros moos dhinho tdv 4 torydvey mod Eovy oymuu
o).
3.—T0 Hypog 1o 8% tiig »ogupiic A tob toiydvov ABT (oy,
mgonyovpevoy) elvar wdderov g 0 péoov tiic mheveiis AE tob
dMov torydvov, dibu ai BI' xal AE elvor magdhinhor Spolog
xoh to v viic xooupiic B elvan nddetov €ls 10 péoov tiig AZ nal
o B¢ tig I nddevov elg o péoov tiig EZ @l of toeic adra
xdderou ele to uéoo v mhevpdv tob totydvov AEZ, firow ta
Hyn 1ol rowydvou ABT, Sifoyovran Shat amd’td xévrgov tigme-
owpepstac, 1) 6mola difpyetar dud @y onpeiov A, E, 7 (wpf.
140v oeh. T4), fitoL #onrovran €l €v onuetov.
4,—"Eorwoav al {oar yoodalt AB xal I'A ol wixkov K* 1a
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toiyova AKB xai KA elvor toa (lov yv. oek. 35) nui ioooxeld,
T 8¢ Uym KE nal KZ xdrrovy td tolywva aded elg 4 {oa tol-
yova medg dAdnie (18, a. oeh. 32) doo KE=KZ @}’ «i KE
ral K7 elvan al drootdseis v dodesdv yooddv dmd tob név-
1p0v° Mote ol Toal yoodal &vog wimhov daéyouv Toov dmo 10
#EvTpov.

H.— A va drodel-
Emuev ty mpdraciv b,
yoewdleton  va dmodel-
Empey  woONYOUUEvmC
v £Efe. "Ag MdBopsv
Ev tuxdv  onueiov O

7 a o ’
WECOL ELC EV TOWWOVOV

wal qépmpey 28 adtold
ebdetog el 1 drou
niite mhevpdc, tog OA, OB, 10 ddpoopa avidy elval unpdrepov
amo 1o ddpowopa tév do A mv mlevpdy Tol Torydvou® Hrol elvou
AO-+OB<ATHTI'B: duwdnt v mpoextelvopey v AO péyoig
drov ouvavrijon v I'B el 1o A, Eropsy AAATHTA (¢ 1610-
mg oth. B) i AO+OALATHTA xai AO+OAFAB< AT
-+TA4AB, @a mdhy OB<OA-AB xai xatd ioxvedrepov A6-
yov AO-4OB<AT'4-I'B* 6poiwg elvan OB4-OI' TAB4-AT xai
OP+0A<AB-BI'. "Eav tdoa ta toeig tehevtaiog dviodinrag
mpoodéawpey xord uékn, Eopev OA--OB-4OB-4OI'+0I'4
OA<AT+I'B4+AB4-ATHAB+BI' §§ 20A--20B-4-20T" <
2AB-4-2BI'4-2A1"  fjror OA4-OB+OI'< AB-BI'4+T'A* xal
otitwe dredelydn 1o modtov pwépog tiig mootdosmg H. At 1o dhho
wéoog Exouev OA4OB>AB (e. 1d. oed. 8) OB4OI'>T'B xai
OI'4-0A> AT xai OA4-O0B40B40I'4-0I'+0A>AB-+I'B
AT # éOA+20B—f—2OI‘>AB+BF+AI1 71 0A-+ OB~ O >
ABBI-HAT

e et

6.—Etc 10 toiyovov ABL 1) vov. B elvan tourhaoia tiig A,
Snh. &y oy yoviay A mogactiicopey dig 1ol a, | B wagiotu-
tor dut tod Bu géoousy Ty BA ofitwz dote va oxnuorion perd
tfic BA yoviav Tony pé oy o’ 10 olywvov ABA elvar gaveody
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Suu clvon tooonehée GMhd xai 10 tolyovov BAL elval isoonehéc
didtt i pdy yovia ABI' yvoeilopev, 6u A

oottt nd 20, 1 8 BAI dc #Ewrteouen
yovie 100 towyovou ABA, fsofrol pé 1o
dfoowouo ota=2a (Eni. osh. 33).

T.— Axd v ®ooupny tig dodiic yo-
vieg A qépouev thv AA, ofitwg dote v
oynuotion petd tiic AB iy yovioy BAA
tonv pt oy B 10 tolyovoy AAB elva
tooonedds alld xoi 10 toly. AADY elvar looowsdic (AA=AL),
STt 10 ddoolona tdhy 6o BEad@v yaovidy
dodoymviov torydiov, leodtar pg 1oodhv B
fitor B-p =1 dpd. 1§ BAA 4 I' =1 dpd.,
gk nai BAAL AAT=1 80d." [doa BAA4-
F=BAA-}AAT &ropdvarg elvar AAT=T.

N

Q ,.’\ . -~ b 24 5
O.— AV TO ONUELOY TTOV ELVOL HEGH €15 TV

B

5

meowpéostay elval 1o O xal of toflc Toat ed
Detau, af 6molon gépovran gig v meppoetay A
givar zard oepdy ol OA, OB, O, td 1of
vove OAB xal OB1' elvan tooouedii, e %o
viy xopugpny t0 O dyv 88 évidoopey pé edieiag thy xopugiy O
ué ta péoa tov 0o Pdoemv AB xal BI, af eddeion avrar slval
ndderor Eml tag Paoceg (§ 46 5. B)° GAN of Pdoeic adror AB,
BT etvau yopdat tilg neoigepeiog, ol 88 xderol ele 1 péoa ad-
iy difgrovion Sud 1ol ®évigov 1ol xiwdov, 1O 6molov elval 10
O (8§ 83 oed. 62). :
9. —'H BE xdnter v €6 yoviav ABA 1o tpiyavov ABD
elg 8o toac yovias « xal a xol elvar nagdilnhogs moog v AT,
Al dvo mapdiindor EB, AT xéarovran dred v tolmv BA xai
armuarilovy 4 88elug yoviag Towg nul 4 auPheiog (oag (15.a. ced.
18)" doa (EBA=)a=A" &\’ i (St magdhdnhor xéarovear xod
and vy A" doa (EBA=)a=T" Gote elvar xai A=T" Fror 10
tolywvov ABT eivin tooouehic (AB=BI).— Avuctobgpoe 8¢ dv
YvogiCouey, dt 1o toly. ABI elvac ioooxelée, 1 dixotduog tig
EEwrepuiiic ywvias toil tolydvon, 1) 6mola oympariCerol dnd v
TOOEXTAOY (s dnd T {oag mhevpde wPOS O uEQog TS XnoU-
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A

@i elval mapdhhnhog xode v dvicov mhevody. Audnt yvoilo-
nev &t ABA=A4T (geh. 33 omu.)

A #ror ABA=9A # 2T' (Suén A=T)

G Bvexo tiig Surotonovong Ty ywviay

ABA, BE elc §do Youg yovine o »ul o,

a 2 ; a o7 o 2
E = B Bopev 20 =2A § 2" #iro a= A1)
- =l

AN af Svo eddeior EB nol AT,
af 6moial wdmroviar vmo Thg Toling
BA xai oymporiCouy tag otefag yoviag
EBA (o) zal A Toag (Oy1 xard xopv-
pav) elvar magdiinior (195, f. oeh.f19).

A r 10. - T rerodmhevoov ABI'A Suu-

pel i diaydviog AB elg dvo tolyava

ABI xai ABA" 700z 10 tolymvov ABD

¢lvan Gpotoy 0 HZL, Sidn fi A elvon dimdasia i I'H- &rniomg
wat 1EIB elvar durhaoie tiig
I'Z, ot «f Odo mhevoal tod
fvoc A" xal BT elvan évdlo-
YOU ROTO OELOGY Mia 700G iy
mo0g TS TAEVONG o0 AoV
HT xal ZI" Eredn) 88 Eouvv
e yoviag  mob  aymuarilera

Ged the Gvaldyous mhevode -
oac (#8® elvar nowwii iy 1), £me-
ran Sru tatolyova 'HZ xal I'AB elvar Buora doa alfdl. yovia
'HZxai DABZelvan Toar dhia tdre aileddsiar HZ »ai AB elva
ropdhnhor dpofwg drodenvieral Srunal af OF, AB elvar mapdl-
Jmhot, doc elvan moodhnlot wal af HZ nad OF Spolog dmoder
wyveral, Go xal of evdeia OH wol EZ elval  waodMnhol moog
iy @y draydviov A, dou xal petely Ty mugdhdnhor firot
e 1o terpdnievoov EZHO elvar magallnhdyoauuov.

Seh. 141.—1.—Svvdéoney T péoe t@v yoodidv tovtmy O
gbBewdy ettt tob wévigov 100 wirhovs GAA al sodetal abrat yvo-
plCouey Gru elvon ndideror ini tdv yooddy xut {oa (do. 4 oeh
182). T péoa houdy 1@V 100d6V abrdv  REWVTOL EXL TEOLQE-
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QELiLS OpOXEVIQOU IE GXTIVYL tﬁv ardotaoy 100 ®EVIoouy amd s
TOV opd@v' firot Gt fi wegupégeia ali oy elval 6 Cnrovpevos yemp.
tomog. Edxdhoc 8¢ qaiverar 8w i fpantopévn sl tugdv on-
uetov atrilg yoodn tiig Sodelong meoupeoeiug loolrar mods v
dodeioay sOdeiay.

2.—"Av ano gv onueiov M tiig Sodeions meowpeoelng péompey
e0lelav woodAndov xal Tony mode uiay dodeioay eddeiov v
MA xai aro o xévioov K adeiig gégopsy tiiv KA naodhhnhov xad
tonv mdg thv AA, wégopsy 88 tae KM xal AA, oynuortiCera
10 werpdmhevoov KMAA, Gneg elvar mooadhnhéyoaunoy (oo,
dor 2) doo KM==AA xai to A Greo onusiov tob témov xelrat
el tijc meoLpeQeiag pué wévigov A nal dntiva v AA, flrg ne-
oupéoeta elvar 6 Inrovpevos tomog” didte dv AdBopev 8 Tugdy
onuetov avtiic B Greo évoduev ne 1o A Sud tiig BA, xal gépo-
uev €€ adrod magdhhnlov mode tiiv KA xal &x tol K mapdhty-
hov mpoc v AB, wltar téuvovion glc 10 onueiov N Snep xel-
tal Eml Tiic mpdTng meowpeoeiug K- bt to terodnievoov KABN
glvar wapahnidyoapnov. KN=AB fitor. KN ion nooc v d-
wtiva KM- d@ote 10 B elvar onusiov 1ol témov dote 6 Dnrovpe-
vog tdmos elvar weoupéoeia {om modg vy dodsioay ud xévroov
mOEA

3)— "Ano v wyovra onueia M, N 1ig dodelong negupepeiug
K, qégopev Epantopévas eig adriy tag MA, MB, {oac mode tiv
dodleloay ediielay @g #ul vag KM, KN, KA, KB, 6xdte oynua-
tiCovion ta dodoyavia toiyova KMA xai KNB, 1 énoia elvar
toa (yv. 20v oeh. 3D) dou KA == KB' t& onueia howdy A, B,
T 6role elvan onpela o Oyrovpévoy témov xelvion Eal T e
opeoeiag ue xévioov K xal durive tiv KA, fivg elvan xai 6 0n-
Toupevog TOmog” Sttt dv dmd tuydy  onumeiov aitiic 1o [ épo-
wev Epantopévny uérol tijg modeng thy I'A, atiim elvar {on 0g
my MA, dién ta dp8. rolyove KMA xai KAT elva {oa (map.
don. 3)."Qote 6 Inrodpevoce YEWUETOWMOG TOM0S Elvan  meQupépeia
Ouixeveoog mpos v dodeioay ud duriva Ty imoteivovoay ip-
doywviov toiydvov, &oviog xadérovg mhevode v dxtive tob
dodévrog xdxdov, wnal v dodeloav eddeiav. H Hm. 88 op?. 0.
Eovrog ndderoy mhevody v Sodeloav dxrive wal drévavie yo-
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vidv 1 '/, T2 Sodelong elvar yE®WL. 10705 tév nEpt ov 0 r0Y08
onuelwvy, Gray didera yovia.

4)— "Eorw Sodeion evdeia i AB, O 1o onueloy £xt0g an-
the, OA 1 wdderog &’ adTHY aoi I 10 péoov Tig OA. EoONEY
8 #dm xal v OB uéoov tiig Grolug dvor o A td Tolyove
OTA zat OAB elvau duowa, Si6tt ai mhevoal Tov synuatiCovy
iy oy ywviav adriv O evon dvdhoyot oo i TA elvon o
odMmhog il AB’ et I owad A glvan onpeld 100 TNTOVEVOY
tdmov. “Qorte 1 ragdhhnhog m00g v dodeloay evdelav, g tol
néoov THg wadérov OA, glvar 6 tnrovpevog TémoC 6t Ev  TU-
LoV oNUELOV abtig o E elvar 10 pégov TS eb9elag, fivig doyo-
wévy amo 1o O wal deoyomévn did Tob E naraMiyer &g 0 Z on-
petov tilg AB. S16m 1¢ tolyova OBE zai OAZ givan Opoia
(mag. dox. 4) zat dgpov i OA elvan Surheota tig OB, Emeton
g1 xal ) OZ evan Surhacio g OE" fitol 10 E glvar omuetov
100 TOMOV’

B) — AT durivec uf Grotal dyovran glg T ampuele frapils Elval
thv mhevo®y ThS yoviag ©OOTE obton didouy Tag

rddetor Eni
yoviog

2 ; A e R
GmOGTACELC TOT MEVIQOV ATO TWV whevody tiig dodelong
af Srotey elvan Toar (OOTE & témoc TV AKEVIQWV ELVUL
ovv #E Toov Gmd TaS nhevodc Tilg 00

(nugad. 4

G témog

ey onuelwv 1o ot ey
delong yoviag, 00Te elva 1i dugotdpog the yovies

oeh. 140).

6)— "Lorw K. % dodeloa reopoele i A §| mEQUPEQELD.
nob dpdiretal TS rohTe Eorepris xol A 1O ompelov  Emo-
@iiggav 1idn (EOMUEY THY XOWNY EPATTOUEVTIV eic o onuetov A,
abrn Od elvan #ddetos wal moog THY dnriva KA xot mpdg TV
AA (§ 99.3) “Hrou f; KAA elvat ehdeia yoauud xal f Groota-
otg 100 wévrgov A ano 1ot K loottat ub o ddgotopa 1OV dnti-
vov KA xal AA dha thTe 6 TOTOS iy wévipmy TV lowy =
whov %A gvan & TOmOS iy onueloy i Smoia Gméyovy MOl
aoy amd Ev dodiv onuelov (K) wai eivoe ovtog M-
xood. 1 ogh 140). “Qote 0 Imrolpevos  To-
dHooropa té@v o

opéyny dndot
aepLpéoere winhou (
rog £vaL OLGREVTOOG REQLPEQELG NE dutiva 10
Gutivov | pg Ty Sapopty aUTOV, Zav of toor xixhol EPUILTOV-
Tt Thz dodetang neorpe0elag Eemrepns.

TEAOZ
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i Hewr. 21715 Rl
A(_:l.{} s = *By *Addva v 17 "Tovilov 1928

EAAHNIKH AHMOKPATIA

YIOYPTEION HAIAEIAY KAI OPHIKEYMATQN

Ipog
zodg éndérag . #. "Inav. 4. KoAddgoy wol iy

“Ryovteg o’ bz 18 dplipoy 8 ol vopov 8438 mepl BhoxTL-
%y BEMwvIxnal Ty &nd 31 Matou 1928 npakw g alxelag énl
tic Svabewprjcewg TOY dyvexppévoy Slurundy FBAwy Emttpo-
nije eyxplvopey Btk 5 4md ofpepoy péypt TEAGUZ T0D cxolméﬁ
Eroug” 1929.— 1930 ypovindy Sdotypa 0 by’ Opdy Exdobiy xal
one Snveidwvos AdAda ouyypupty Bbaxtindy Bishioy brd Tov
titioy. « Avayvdouata Exens Anuorixo®, fufiliov pedodinov
dua iy dibacxnaliav vis nadagevodaonsy Omd 1ty Epoy Emwg
&v peilaboy Exddost 190 [iBhiov gmuptpnte g Omd TG EMTPG-
nﬂglﬁm%aﬁvuopém TpOTGTALTIEL.

‘0 “Yaouvoyodg
K. TONTIKAX

: ‘O Tunpozaoyng
K. Kauméans

Svyenelq tijg O’ dgud. 51789 vig 17 Zeareufiolov 1926
aodbews tob Y .’IOL!O"HO‘U vijs Hadelag sal wdy Bonoxevpdrmy
abEdvezac o) tehua) wyth) 1y dedartixdr Pifilioy Ty om/.uu)v

Tijs péong xal Onuotixis dumadetoews zata 207/, dp’ Gaoy

tadca upevapioorroan  Ex wijs mews &y 7| &edodnoay els drdag
mohes.
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XPIZTOY A. MMAPMIMAZTAGOH

Kadnynroi tov Madnpatway 10t 0. pvaciov *Adyvav

AYIELD TN AZKHEEQN KAL TPOBAHMATAN

TN MEPIEXOMENSON

EN TH. BEQPHTIKH. APIOBMHTIKH.
I N XATZMARKI

IIro=Ex XPEX1IIN

TSN MAGHTSN T2N FYMNAZIZN

KAl TN MPAKTIKEN AYKEIZN

ExaoTtal: |
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Ta yviowo dveituma @égovel  Tiv apoayida tot «Bifhiorwlsiov

g <"Eotiag». :

3 Tu-mug 1'1 XAAI\.IOHOYAOY I'sgowviov 11
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“‘if\ 1;\)\)

\m&? NHIEDN KAT TIPOBARMATON

OEQPHTIKHE APIOMHTIKHE

Jeh. 13—1). O duyngror Gordpol  év td denadud ocvotipati

slvar ol aoudpol dmo tol 10 péxor tod 99 elvar Aovmodv torovtor

100—10=90 1 9 dexades ol Toupigrot slvar &11:6 Tob 100 péyor Tov
999 #opev Aot toupnpiovs 1000—100=900 7 9 éxatovrddac ve-
Tooiguot lva ot amo tod 1000 péxor Tod 9999 Hirow év 6he 10000—
1000==9000 % 9 yahddec' xai yevixdg dadoyovor 10Y —10¥—=10v1
(10—1)=9. 10¥ ! Goivitpol of 6molol yodgovrar S v Yymepiov. iHro
10 whios attdv sivar 9 povddeg v tdkews.

2). ‘O aovilpog 3652, drav mapeuPdiopey 1 pndevixdv yodpera
36062 mapaTnooluey Emopévig OTL Exdoty ExaTovrdg Eywve yude,
fitor ndENO xatd 900" dore dud tac 36 Exatovrddes Fpopev alitnowv
36.900" fov maoepfdiopey dvo undevixa ndotn Exatovrag yiverow
dexdic yhrac xal Emopévag & Exdotny éxavovrdda, Exouev al-
Enouwy 9900 xai did tdg 36 Sxatovrddog, #xopev adinowy 36.9900°

Suofme &  onemrdpevor, ebpionopev ti, fav maosuPdiopsy v un-
W]

devind, sxrmtn ExaTovTig aUEdvetal wota 99. . 900 % 0. x.

3). Al 8 povddeg tot 12, dmorelolor plav oxw&a #oul, Evouy xol
4 povddee Spolmg al 16 wovddeg tod LT dmorehoTor dvo dxrddac pé-
ver 02 pia povdg' al 8¢ 40 povidsg 1ot 40 dmoreholon mhgelg H dutd-
dac” firor of dovpol 12, 17, 40 Tod dexadinod oustinatos, Teémovtal
Eic 10 dxradov ovotmuo eig Tovg 14, 21, HO.

4). "0 70 meotéyer T uévov wovddog devrégag tdkewe 1 dutddac
Wote meguéyer povidoc dmldg tol dexadixod cuoriuatog 8XT==H6"
6 107 meouéyer 7 darhdg povidag ol 1 wovdda toltng tdkewg #Hto
LX8X8=64" Gote meoiéyer év Bhg Gmddg wovadog 64-4-7=71" 6 b¢
43 meguéyer 4<8-4+3=35.
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5). “H mpdkic dardooerar (g £Efg :

1000 | 2
D2 D00 o2
0 250 | 2
0196 2
162 ] 2.
TRy PR
R [ e
1 7 { 2

SRR

1 1

frow 6 Goriuos 1000 &v 1@ dvadixg ovothunott yodgeray 1111101000.

6). “Eyopev 1 povddo Sevtépac tdkewg, 1 TetdeTng xai 1 g
Gate Epopev v GAg amhdg povddag

94292242222 2=2+48-32=42

7). Toémopev adrols mEOTOV el Gordpovg tol denadixol xal 6 pev
100 #ev 1 povdda toltng tdEewd frow #xe 9 dmAds povadag, 6 200
#yer dvo Toarag 1) 18 dhde »al 6 210 ¥xew Emi whéov ral 1 povada
devréoac takews firor 184-3=21 dnhdc. *Hoén tovg dovdpovg 9, 18,
91 toi dexaduxol, Tofmopev &ic TorovTovg TOD mevradinod. Amd tag
wovddag Aotmdv tot 9, ai D wdpvowy 1 povdda devréQug Tdkewe nal
uévouy xai 4 firor 6 9 yodperar ele o mevrodunov g 14" al 8¢ 15 po-
videe tod 18 aduvouy 3 povadag devtégag TdEews dote 6 18 yodgetat
glc 10 mevradixov wg 33 xal & 21, tod émolov ai 20 povddeg, dmote-
Lot 4 mevrddag, yodgeral (g 41. ;

Seh. 21—9). To Cnrotpevov ddoolopa eivar o 10-+204 ...+
90+42X10° aiha 10-90=100, 20-480=100 %. 0. »." Exopev AoLmov
4310045042 10=470.

10). AdEidverar xatd 10 dooona 124-9-4+14" Sidm Fypopev (254
12) -+ (32+9) + (11414) 4 2561 2-4-32-+9-+11-}14 (85. 20,5)
25-+32-11-F1249-+14 (8d. 20, 1) 4 (25-32+11) + (124+9+414)
(88. 20, 2).

11). AdEdveran natd 10Xv.

12). Oéropey todg dodévrag Tov Eva rdtodey Tob dhhov xal mpoo-
Héropey Exopev 8¢ T+38+4-6=16 povddag dmddc dAL” attar ndpvouet

W SR, TR s o e -
WnpiomoBnke amndé to lvetirouto ExkmaibeuT!
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o Bl

do alosg povadag devtépag tdkems adton 88 pera tov 1-+7-4-H=13
xapvovol 15 povddag devtéong tifewe M 1 povdda voitng nal mepio-
agdovor T povddes devtépag” @l Exouev andpn 1-F3-+-2=6 povddag
Toitng tdkews firol &v SAg 7 povadac voltng tdEewe Hror to dffpoi-
ono gtvar 770, ,

13). "Estwoav v ol mgooderéol xai o ymola pwdg oriiing 6ia 9°
0 ddgotopa adtd@v G elvar 9Xv' 6 88 dorduog IXv elvar Qavegov
OtL d&v SUvatar vi amotedéoy v wovddag, tdfswe dvwrtéoag, THS Td-
Eewg elg v dvirovol ta moootedéueva Ynela' dote 10 %0aTOULEVOY
tha elvar wkpdregov tod v.

15). a) "Ag¢ maguotiomuey tov dotduov Gotig sbolonstar &v T
W yoaupq xal v athdp Sud Tod a:- maparnooipey 88, 0TL CUPQMOVEG
MpOS TOV GYNUATLOROY Tol TELymvou ToU Paseal, 1o v dév divatar va
) ’ - v o = 1 . 1) v—I1 v—3
slvar peyalitegoy ol p xal Gtu elvan a, =L ol @, =00 =g
=1" @\’ 6 «) elvor xavd thy megarionow tiis douoewns 14 elva

v—1

A v—1 ’
Toog pt o) .+ a, ,; fitor elva a:i == a:LI - a,_, nal dv ddbowpey

glg 0 p v TNy 6 xal glc to v Ty Tiuny 4, Sa Exopev :

4 4 3 Y 2 ¥
o, =0, o, G elvau

6
4 4 3 ;
a = o o, %o
A
o, == O

xal 8av mpooéowuev tag lodtnrag xata wéln xol depaipéowpev Gmo
v mpoxvrrovoay ta loa, Aaufdvopsy

a;——“as—l—ui—i—a: % 0. X

B) O doudpol . % tiig yoauuds 5 sivar ol

1 2 8 " Bt it " -
O, O, O 0, O xal ol Thg 4 elvon of

1 2 3 4. a \ \ \ ’
i O #youev OF TG TNV WOQATNOMOLY

SE.
g %
g 3
g u.‘-’f-a‘



moootérovreg 8 tadrag nata pékn Aapfdvopev a; - a: -+ az +a ‘:
+ ag — (ai —+ a: -} ai -+ a: ) xal yevidg Edv T dlgolopa TOV
Govdu@dy THC v YOURUTS TUQACTTCWUEY Sua Kv nai t@v apvipdv g
v——1 youupiic maguotiompuey de Kv —1, dmodeuwvietar Gpolwg, Ott
sivar Kv=2 Kv—1.

~ \ - v e b oy b
y) Xonowpomotofuey wov timov « ) = @, +a;ﬁ1 M Tov

| L
a, = a; + @ xoi Exouev

1 1 2 2 1
g == 0 _ g == Oy + @y
3 3 2 4 4 3
a, = oy + ag o, = oy + o
6. s " g
a, = 0, + a; o = O

xal did Tiic mpoodécens ratd pékn evolonopey a; -+ a: —- a; == ai -+
o+ o

Sk, 28—16). “Eneidd) 999=1000—1 Eopev 4895—( 1000—1)=
4896—1000" dpolmg Exouev 83453 —( 10000—38)==83456—10000 xai
2156860—( 1000000—3 )=2156868—1000000.

17). *Edav oi douduol eivar oi a, B 1) dragood adtdv elvar o—f.
Yo Eonev O (a-18) m(ﬁ—{—13)=(a—~[3)—H]8—*3):{(1——ﬁ}—|—5' firou
1 duagood adtdv adfdveror xata 5. "Ealong da Eopey (a+13)—
(B4-18) av 8¢ xai dmo TOV pELOTEOV nol G0 tOV GQOLOETEOV AQuLOE-
gopey Tov attov dorduov 13, da Houey a—( B4-5)=(a—B)—> HTor
7| Sagopd abtdv EharrolTar xatd 5.

~ 18). *Edv oi dovduol elvar ot @, B da Exwuey (0—15)—(p—23)=

(0—15)+28—B—(a—-28—15)—p=(0a-+-8)— p=(a—P) +8 iiror 1
draqood attdveral xatd 8 (1} EhattolTal wote 8).

19). “"Hrov o elvar (a4-17)—(B—8)=(a+17+48)—p=(a—B)+
25 4 (a—17)—(p48)=(a—p)—25.
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20). Oéropev tov 16D xdrwdey tod 254 xal Aéyopev' D &m0 4 dev
apotoeital’ Auufdvopey 8¢ 1 novddoa dsutépug tdlewg, fitig meptéxel 8
GmAdg wovddag wal Fpopev 4-4-8=12" dote b amo 12 =T ail’ 1
10 doverodév xal 6="T T 8¢ axnd H d8v dgpuroeitar daverlopeda plav
wovdda toitng tdfewg, fiTig meoléyer 8 povdadag devrépug ol Eopev
84+5=13" dote T dnd 13 =6 »ai narémy 14-1=2 xai 2 Gao 2=0
Bote 1 Suagpopd slvan 67,

21). Hooeheipapey dniady | Sexdda, 1 Exarovidde xai 1 jpiuade’

*firou 1 Tyrovuévny drapopd elvae 1110.

22). “Eotwoayv o xai f 8o dotthpol xul a >f" Edv Howuev a4
=y xal a—f=0 xal mooaiHowuey tavrag nate uéhn Exopev a-f--
a—B=y3 1| 2a=y-}0 fav 8¢ dguofcwusy adrag xuta wély, Aap-
Bavouey (aB)—(c—Pf)=y—0d | at-p-+p—a=y—0 1§ 2f=y—0.

23). "Eoto a 1o ynplov tdv éxatovidduv évog tdv 8o dordudv,
B 10 TV dexddov xoi ¢ T0 T@v povddwy xul fotw a > dote O pe-
valitepog doudpog elvar 6 10004104y =al & pxpdtegog elvar 6
100y~-10B~Fa, 9 8 diagogd twv elvar 100 (a-—y)—(a—y) &AL
dagood a-—ry, eivar eic tov aoududv 1, 2, 3,4, 5, 6, 7, 8, 9 %al £mo-
wévog 1 OLagood Tmv dotdudv elvat

99, 198, 297, 396, 495, D94, 693, 792, 891.

Kat® dAhov todmov, maoetnootuey 0Tt t0 Ynmeiov t@v povdadov
rol Gpoioetéoy, eival mdvrote peyohitegoy tol dvrietoiyov Ymgplov
1o peLotéor To 02 Yrglov t@v denddwy, sivor 10 altd xal &lg Tovg
do dovdhols fmopévag, and tiv dgpalosoty TOV GrAdy povadwmy Ha
Exmpev mavrote xoatovpuevoy 1, 10 dmolov moootiiépevoy eig T Y-
plov v denddov Tot deatgetéov, tha didy dordpov mdvrots ratd wo-
vada peyakiregov, and to dvrictougov ymglov tol petwtéov, xai mo-
uévee 1 diagooa adriv do sivar mdyrote 9.

Sed 46—24) *Edv of doviuot elvar a xal f, $a Exouey a X y-fX
y=(a+P)Xy 1| aXy—PXy=(a—PB)Xy" iiroL t0 dBooropa 7 j dua-
oot abthv mohharhacidletar énl tov abtov Goutudy.

25). Elvow 18X 17-—-18X9=18X(17—9)

2012 —12=(29—1)X12 xai 4 XBXT—T=(4X5H—1)X1T.

26). Eivar 45000-4+4500-1-450-F45==45 > 1000-}-45 X 10045 <
10-+45=45X(1000--1004-10-+1)—=45X 1111.
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8 —

27). “Eyxousv 542
23
2510
1524
22150

28). "Eotw a >0 #youev d¢
(a+3) X (B—3) =(a+3) X p— (a--8) X3 = a X B8 X P—(01-8) X3’
@M xard Ty 19téTTa Toi dagiov 27 Exopev aX B—((a+3) 3—3B] .
=aXp+3B—(a+3)X3" dote 16 yivouevov (a+3)X(p—3) = aXp
—3 (a4-8—B)=aXp—3 (a—Pf+3) Emouévac atrotal *atd 3
(a—B--3).

29). O Homuev (a-y) X (By)=oX Pt X y+BX v+ divo
odEdverar xord (at-B-4v) X v.

30). Katd thv Gvotéem Gounoly T0 YWOUEVOV TOV S0 aprdudv
o xal f mdEqdy xata (a-B4-D5) X D=(a+B) X525 dote elvan
(a4-B)X5=310— 25=285" xai Emoptvar 0 anhizov Tod 285 dud Tod
5 elvan 1o ddgotopa o--p Hror slvar a--f=>5T" édv Ot elg o oot~
opo T@v do doudpdv meooltécw v dlagogdy tov 7, da elow To
Surhdotov Tod peyahvtéoov a(dox. 22) firor da elow 2064 xol 0=32"
&ote 6 B elvar HT—32=25.

31). Aiétt O ywvdpevoy da lvan ueyaiitegov pév tod 100. 10000
#tor tod 1000000 (i vodhdyiatov Toov medg tolt0), UiLxEdTEQOY OF
o 1000 . 100000 #ror Tod 100000000 doa Ha &xn TovAdyiotov T ym-
glor dev divaran Spwg va Exn 9-

32). Tov Gvapeoduevoy mivaxa ywpilopey Mg £EMG

1 1 b ik gl e s
el i ¥ilde bt 50
) e e | ke gt
iy gl kel il
JUE e ks VRl 1

“Eyouev 8¢ 142-4-3+44+4DH = b-+4+43-4-2+1 = T fjloy  Tol
yivopdvou 63X5 nai yevirdg denvieral duotwe, 6t 142344+ ...
4-v glvar o furov Tob ywvopévov v (v-+1).

YnoiomoiBnke amé 1o venirouto ExkmaideuTikrig MoMTikrg



33). "Edav Egopev o yuwvdpevoy o2 %l moosdécwmpey, gig tov a,
1, 2, 3,... 40 &ouey (a+1)XB=aXp+pH
(a4-2) X B==a X B-+-2p
(a+3) X B=u X B+-3p
frot gig to ywouevov a X moootiderar nlov goodv 6 B, dvo goode,
TOEIE AT
34). "Ex thg dvotéon donlorwc ouvdyetal, 6Tt moénet v olEr-
GIUEY TOV WLXQOTEQOV.
35. "Eotw a>f tdre 4 Frouev
(a—1)X(B+1) = aX (B+1)—(B41) = oX +-{a—B)—1
firor aDEdveTal xaTe Ty duagopay TV dordudy tovtov Nlattopévny
®UTE POVAEDQ.

o

36). "Bav 10 yvipevov glvar o X, 4d Exopey (aXy) X (B y) =
a Xy PXy = a X By fror molamlaoidlerar #nl v’ woi  yevidie
L 7
gl y .

37). Elvau (a+-8) X (a—B) = (a+B) Xa—(a+-B)Xp = (a’ + «
“)(ﬁ)m(ﬂf.)(ﬁ-%[:%2 ) agorpoipey Hidn dno tov uslwtéov xal OV G-
petéov TOV adrov ooy aX P xal Aapfdvopey a’— B

e, 63—38). 0 29822276 Swargeitan dxolfids i tod Ln-
Tovpévou dratoétov & Emeldn 8¢ elvan 276—=12. 8 Emeran G elvon d=—=
276 2 9—23.

39). "Eav @ =ai § sivar of Enrovpevor douthpot o didooapna a-f3,
flvar Toov ué Tov 609 amod tov 6molov aguofoauey o ddgotona 8-
15 =23 Hrou elvar a-p-—636" arr’ eivar a=8f-4-15° dore 6 636
dmoteleitar o 9.0 otv 1) Umololme 15 xal émonévag 6 9f loolral pé
tov H36—1H 7 uE tov 6217 Hrow Fyopey f=621 : 9=—=69 »ai Emopévwc
glvan 0=636—69=5H67.

40). *Agaigoivrec dro tov Inrovpevoy dorduov 97 gopdg To mn-

Aoy etoloronev 17, 2viy dv t0 Gpargéowuey 91 qoodg, ebotoxopey
17 Emouévoe 1 Stagood 77——17 lootrar pe 6 @oods to ankixov: Hrou
0 ankinov elven 6 10 (60 : 6=10)" Gove 6 dordhudg eivar 97. 10417
=987 # 91. 10--77=981.

41). "Eoto o 6 daoetéog xai B 6 drargétng amod v modTny di-
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atoeowy Eyopev a==f. 4064 aAl® Eav mooctécw €lc TOV dLaLpsTioy
<ov 179, 4 daloeoig yiverar zehelo xal TO mnhixov yiverar peyakitegov
wata 1° Gore 1o ddgolopa 197464 i 6 243 dmotehel TOV SuatofTny”
elvan Eopévoog a==243. 40-1-64=9784.

42) ‘H Sudrakis Tiig nodEeng elvan 1) E5iG ¢

453 | 36 (CExeadn 1o 6 dév dguigettur Gmd to D, hap-
e e Bavopsv 1 povada Tij dvogioas tdfewe T T
94 THiC AUTOTEQUS TG KUl AGUVOUEV 12° % 0. %)

43). Edv o & OSwapetéog, B & dapérne T 10 anhinov xal v T0
Séhovwoy Eyouev u==P. w1V xai B>v dmeldl) O o sTva TodLi-
yuotov toov ué v 1 Eropev B xal xatd peiCova Adyov

B.a>v Emopéveg slvor nol
B.adv >v-Fv 9 a>2..

44). “Orav ywolcwouey G’ Goyfic Tob StulQeTéoy, THGU ynple God
Fer 6 Sranpétng, Ta gropévovta eivat 1000 Soa Eyel 6 daigetéos meQLa=
séreoa Tob dorpérov &lg <a®’ v 8¢ Gmd adrd GviioTouyEl BV Umegptoy
Tod mnAlzov” v O& O aordoc Tdv ywoLotEvTmv Pl TEQLELEL oV
Suangétny, Vo Eympey Ev dudun PYrplov.

45). “Otav 1} duagopd Tov froholsrov Gad TOv dalgror Elval we-
yohVTEQU TS povddog, 1 Tob dotiuot thv moosTLlEnEVEY HovadwY’
fv  moooéowmptey Gorlhpuov todhdyiaToy Toov We THY dLaoply T~
v xol T woht toov né 1o doorape TS Slagopic adrilc ®ui TOU
doudpot Tol xutd Lovade IrQOTEQOY Gmd TOV dLULOETNY.

46), "Eyouev « —B.u+ nol a.p=pX(xXe)+v . HoTE TO TN~
Axov T Oanoécews .0 ¢ B clvar mXe ovv TO anhing i dtawod-
sewg tob v.0 O ToT > Sméhovmov 8% THc rehevralag TavINg dua-
ofoewg elvar xal VroLoLTOV tic dwwpéoewg a.0 : P

47). "Eyopev a==pa-+v (1) xal v<p drongoipev auepoTeQr Ta
néhn tilg lootnrog (1) S 7 xai da Eopey @ : g==P.7 : T4V : 7=
f-+v: a oote 1o mnhizov Tiic duuigéorwe o 1 T, Grotehelron Ao TOV
B nal Gmo mnhizov Thg dlarobotog v i W Ehv V> 7| uovoy Gmd Tov
B tav vm (eig Tov oTuy. 4 Thc GonnoEwe tavtne 1 ABig Oaioe-
éov vé SropPadi g Statgérov).

48). “Eotw 8u #ousv v Stagéowuey 10 @ dud Tod o . ‘fmeldn Of
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i Aen )y |t

givar o, al= o’ Ereral G o ;= '= " " Devixde 88 elvor a -
Ok {r

Sek. 75—50). an. 116568.

51). "Agod 6 a duawgel Tov Eva TV mEooteTwy Tol Gipolouarog
a—+24 (toh ), tva duaion) xai o didooloua TolTo, Toémel ®al Gonel va
Suawpf) zal tov 247 dote 6 « moémer va AdPy piav thv zdroth Tpdv

T T ST R T ) LD

52). To a+31 yodpetron a—1-432 zai otrw Eoydusda &lg Thv
TEOMYOUREVNY doxnoLy moémer A wwov & a v Aafn nilav t@v xdrwih
TILDV ¢

e ROl L L e

H4). "Eotw 6 dorthuog 673" ottoc siva dipoiopa 65 Exatoviddav
7 dexddv #al 3 wovddwv' meparnootpey 8¢ dri al éxarovrddes elvi
morashdola tobd 4, xai Emonévag dvvdneda va maoalsipopey  adtic
ywels to tmbhotaov il duagéoewmg Tol dodévrog Sud 4, vi perafin-
M alha tore da Epopey T 0ex. wal 3 povddas v 0f dmd 1 Sendda
aqpargésmuey Ta modlamidoia tob 4, Ya ndg usivovy 2 povddec  doa
amo vog T demddug, Eav dguipfompey, 6la i mwolhamldowa Toi 4, Hd
udg petvovy 7X 2 povddes firor Ha Egopsy povov tig povddag 7K 24
3. "Edv hotmov 1o ailootopa tovto, dmep slvar difgotopa  tod Ppngiov
TOV povddwy %ul tol dumhactov Tol Yrpiov Tov dexddwy, elvar duat-
petov Owa 4 7ol 6 dovtelg Gouithpog slvar dvaroetoc dud 4.

59). Al puhuddes oot tivog elval modkamidoia tob 8 Eronéveg
duvdpetia vo maoudetpopey adrdg  éav O dmo niav fxatovrdda ToD
aoudpod apuioéowuey t¢ rollanhdoia Tob 8, ¥ pag pelvovy 4 povddse
wote dv To Ynglov THv frutoviddwy elval ¢ G0 Tae o Exatovrddag
Ha pag pelvoury 4 X a novddeg énlong édv amod 1 dexdda dguioéompey
tov 8 tha pndg pelvouy 2 povddsg' ote dy f elvar o Ynpiov 1@y Ssud-
dwv, amo Tag f denddag Vo pdg peivovy 2XP povidesg émopévoc petd
™y dgaioeawy Ghov thy modkardasiov 1ol 8, i pdg peivouv 8Xa
+-2% -+ novddeg (y slvar to ynglov tav povudov) dote dv o
dthgorope tolto elvar daipetoy S 8 wat 6log 6 dordpdc sivan Su-
atgetog dud tod 8.

56) "Eotw 6 dovthuog 5375 odrog yeugerar HUO0-300-+-70-4-p=—=

ok 644X D 4 moh. 64X 3 - moh. 6+4XT+bH=mod.6-+-4 X544
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K344 XT+b dav b an’ adrod dopupéowpev Oha ta molhamhdoLo
Tol 6, nic néver 6 dorihiog 4X54+4X3+4XT +5" évrebidev meo-
#UVTTEL 1) TOOTUCLS. :

58). "Eoto 6 dovihpog 6484 greldn 10=7-13, 20=2XT+3X2
wrh O¢ civar xoal 648 = mok. T+648X3 firor eivar 6483 = mol.
7648 X344 Eav ¢ dparpéomuey ta molaridoia vob 7, o pdc
peivy 6 aoudunog 48X 34" Zvredev 3¢ 1) modTooLs.

59). “Eotw 6 douinog 346257819 Emadl) ¢ elvar 1000 = mol.
37--1, 1000000 = mok. 3741, Emeral &rL 207 = moh. 37-+2H7 nai
346 = mok. 37346 ¥yopev ToLwoOV 346257819 = mok. 37-+346+
957819 #av 8¢ ax’ adrov deparpéompey, Gha  Ta molamidola TOD
37, 94 udg ueivy 1o ddooropa 3464-257 4819 dvretdev 8¢ 1) melTacLE.

60). “Eoto o douihuds g uh) dargerog B T TéTE 6 a elvar woh-
Aamhdoiov T tob T niEnpévoy & gvog Tov Godudv 1,2, 3, 4, 5, 6°
Gote xal aXa q o> O eivan mohamhdotov tod T NOENHEVOV ROUTOL TO
TeTody@VoV EVOC T@Y aovduav 1,2, 3, 4,5, 6, 1) %ot TO VROAOLITOV
Tiig drargéoemg 10D reTouydvoy Tovtov dui tod 7 fitoL xatd Eva TV
aorudv.
1 O L ety e T Mote ELvaL

ol= moh. T+1 @ + 2 i + 4 nal

B'== mok. 741 @i +.2 f -+ 4 doa elvan

o+ B=moh. TH+2 % + 49 +8
&AL obdeic tidv dovihpdv 2, 4, 8 clvar Suaigerdg O T Emopévarg xai
0 o'+ B dtv elvon drawgerov dua 7.

61) *Ex tov dortudv robray 6 elc elvar moopavds molhamhdorov
zol 2 xal 6 dhhoc (i »ai 6 1Brog) roMamhdotoy tod 3 dvaliopev
Aowmdv abrode xai aymuatibouev Eva YLYOUEVOV TEVTE TAOAYOVTOV, €%
<6y ooty dvo elvar & 2 nal 3 avrizatotduey O Eneita adtovg
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